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V1) = ρ1

−→g −−→∇p1 +
−→∇.(μ1(

−→∇−→
V1 +

−→∇−→
V1

T )) dans Ω1

ρ2(
∂
−→
V2

∂t
+ (

−→
V2.

−→∇)
−→
V2) = ρ2

−→g −−→∇p2 +
−→∇.(μ2(

−→∇−→
V2 +

−→∇−→
V2

T )) dans Ω2 �E)H�

6
 	���	��� ��� 
� �4����� �E)H� ��	��� �� �	�
�	� �
 ������ 
��&�
����
 �� ������

L���� ���� �� ��
��	� ����	��) 6	 ��� ���' L����� ���
� �
 ��
���� &�� 
��
��	���� �
�

�&�
��
� �� ��S�
 ����
��) 2��.��� �� ��
�����
� $ 
��
��	���� �	������
� 
� ��
��
���� ��

L�' �� ����� �� �� L�' �� ���
���� �� ���&���
� ��	��� �� ��

����	 
�� ���' ������)

6
 ������� ��� 
��
��	���� �� ���
��� $ �
� &������
−→
Vint)

;�
� 
� ��� �� ���' L����� 
�
 ������
�� 
� ��
��
���� �� L�' �� ����� ��

� 
� 	�
����


���&�
�� <

[ρ(
−→
V −−→

Vint)].
−→n = 0 �E)J�



�3� �
��������

 ��� ������

� �� �

���"���

 !

;�
� 
� ��� �P �
 
�4 � ��� �� ���
����
� �� ����� 
��
��	���� �� ���
��� ��	��
����
��+

	���
� $ �

�+�1�� �� ��
� <
−→
Vint =

−→
V1.

−→n =
−→
V2.

−→n
) !��� <

[
−→
V ].−→n = 0 �E)I�

2� ��
��
���� �� L�' �� ���
���� �� ���&���
� �������
� �
 ���
����
� 
� �	�
���� ��
+

����
��
 �� 
� �4
������ ��	 �
 ����� &�
��� �� ��
�	@
� �
���	�
� 
��
��	����)

��

�+�� ��� ������� $ ��� ��	��� &�
������� ��	�&���� ��	�������� ��	�����
 ��
�	��
���

�� &��������� �� �
��	�����
���) 2� ��
���
 �
��	�����
�� γ �	����� 
� �������
 �� 
��
��	����

�� 
� ��	�� �������� 
−−→
Σint � ���	 �'�	�����


−−→
Σint = 2γκ−→n +

−→∇sγ

�&�� κ = −1
2

−→∇s
−→n  
� 	�4�
 �� ���	��	� ��4�
 ��

−→∇s 
����	����	 �	����
� 	���	��
� $ 
�

��	���� �� 
��
��	����)

2���������	 �� 
��
��	���� ���
� �	�� ����
� 
�� ��	��� ��������� ��' ��	��� &�
������� ��
�


��
�����
�� ��&�
� ��

�� ��������� ��' ��	��� ��	�������� �� 
�
������) 6
 ������� ��

�
�� ��� 
� fluide1 
� �
���� ��� ��	 	����	� �� fluide2 �� ��� �

�
� 
� �������
�

��
��
���

� �
� 
�
� �� 
� ��	���� �� 
��
��	����� �� 
� ��
���
 �
��	�����
�) 2� ��
��	&����


�� 
� ���
���� �� ���&���
� $ �	�&�	� �
 ����� &�
��� �� ��
�	@
� �����	 �� 
��
��	����

��

� ��
� 
� 	�
����
 �� ���� <

[−p−→n + μ(
−→∇(

−→
V −−→

Vint) +
−→∇(

−→
V −−→

Vint)
T ).−→n ] = 2γκ−→n �E)C�

2� 	���
����
 ��� �������
� �� �4����� �E)H� �E)J� �� �E)C� ��	��� �� ���	�	� �
 ����
�+

��
� �
����	�����
�� �� ���' L����� 
�
 ������
�� �&��	 Q;�29,>� FJR�)

�
�4�� �(5����

2� ��	��
����
 E+L���� ���
 ����
���
� ���������� ��
����� $ ����
���	 
��
����
�

{fluide1, f luide2} ��	 �
 ���
 L���� ��4�	����) ��

�+�� � ��� �
�	������ ��	 QT,�,6T, KCR

�
 E:KC �� ��	��� �� 	�����	� ��� �	��
���� ����������� �
 ���
���
� ��� ����
� 
���+

	����� ��� �
� ��� ��&�
����� ���	 ��� ��� ��
����������)

!��� χk 
��
�������	 �� ����� k k ∈ [1, 2] ��/
� ��	 χk = 1 ��
� 
� ����� k �� χk = 0



�6 �������� � ������ ���
�����

��
�
) ����
� δs 
� ;�	�� ��
�	� ��	 
��
��	���� �� ��	���� s 
−→
nk 
� 
�	��
� ��	��
�� $ 
�

����� k �� −→n 
� 
�	��
� $ 
��
��	����) 2��
�������	 �� ����� &�	�/� 
�� �	��	����� ���&�
��� <

2∑
k=1

χk = 1

χkχj = δkjχ
k

−→∇χk = −
−→
nkδs

∂χk

∂t
=

−→
Vint.

−→
nkδs

2� &�	���
� E+L���� Φ ��� ��/
�� ����� 
� ����� ��� ������ k ��
��	��� ��	 
��
��+

�����	 �� ����� χk �)�) <

Φ =
2∑

k=1

χkΦk.

,�
�� 
� ��
��	&����
 �� 
� ����� ���	 
� &�	���
� E+L���� ��&��
� ��	�� ��������
 ��	

������ 
�� ������ 

−→∇.(
2∑

k=1

χk−→∇
−→
V k) =

2∑
k=1

−→∇
−→
V k.

−→∇χk

= −
2∑

k=1

−→∇
−→
V k.

−→
nkδs

= −[
−→
V ].−→n �E)F�

�
 ���
���
� 
� 	�
����
 �� ���� �E)I� 
��������
 �E)F� �� 	����� $ <

−→∇.
−→
V = 0 �E)K�

,�	�� ��������
 ��	 ������ 
�� ������ �� 
��������
 �� ��
��	&����
 �� ���&���
� ��

���
������
 �� 
� 	�
����
 �� ���� �������� �E)C� �
 �����
� <

∂ρ
−→
V

∂t
+ (

−→
V .

−→∇)(ρ
−→
V ) = ρ−→g −−→∇p +

−→∇.(μ(
−→∇−→

V +
−→∇−→

V T )) +
−→∇s.(γ

−→
nkδs

−→
nk)

= ρ−→g −−→∇p +
−→∇.(μ(

−→∇−→
V +

−→∇−→
V T )) + 2γκδs

−→n �E):�

,�
�� ��	 	����	� $ 
��������
 �E)A� 
��������
 �E):� ���� ����	�=�	� �
 ��	�� ����
���
+

���	� 
��� ��' ��	��� �
��	�����
�� 2γκδs
−→n )



�3� �
��������

 ��� ������

� �� �

���"���

 ��

1�
�����
� ���/���
�

6
 ������ 
����	���� �� 
� ����
����
 ��� �	�
��� ����

�� �LES� ���	 ����
���	 �


����
���
� ��	��
�
�) ��

�+�� ��
����	� ��� 
��
���	�
��� �� 
���������
 ��	��
�
�� �����

��1�	� �
�����	� ��� 	���	�	 $ Q�9,!!,(�5 BBR�) ,�
�� 
�� ��	����	�� ����	���	�� $ 
� ���

�

���
� ���

� ��	����	������� ��
� ��
��
��� �'�
�������
� ��
��� ��� 
�� ��	����	�� �� ���

�

�
��	���	� $ ����� ���

� ��	����	������� ���	����	�� �� ���� ���

�� ��
� ����
�����)

;�
� 
� ��� ���
 ����
���
� ��	��
�
� 
� &������ �
���
��
��
−→
V �� ��������� ����� 
�

����� �� 
� &������ ��4�

� �� 
�����
���
�
−→
V �� ��� L��������
� �� &������� −→v ) �


�
�	������
� 
� ��
���� �� &�������� ��	��
�
�� μt 
�� �������
� �� ��&��	+!��G�� ���&�
�

�
�	� �� ����	� ���� 
� ��	�� �&��	 Q�9,!!,(�5 BBR� <

−→∇ .
−→
V = 0

ρ(
∂
−→
V

∂t
+ (

−→
V .

−→∇)
−→
V ) = ρ−→g −−→∇p +

−→∇.((μ + μt)(
−→∇−→

V +
−→∇−→

V T )) �E)EB�

2� ����
������
 �� 
� &�������� ��	��
�
�� μt �
�	������ ��	 Smagorinsky �
 E:CH

�Q!�,56-(�!T> CHR� ��
����� $ ��	�	� <

μt = ρC2
s Δ̄2(S̄ijS̄ij)

0.5

�&�� Cs 
� ��
���
�� �� ����
� �� Smagorinsky Δ̄ = (ΔxΔyΔz)
1
3 
� /
�	� �� S̄ij 
�

��
���	 ��� ����	�����
�)

2� �4����� $ 	�����	� ��&��
� <

−→∇ .
−→
V = 0

ρ(
∂
−→
V

∂t
+ (

−→
V .

−→∇)
−→
V ) = ρ−→g −−→∇p +

−→∇.((μ + μt)(
−→∇−→

V +
−→∇−→

V T )) �E)EE�

∂C

∂t
+
−→
V .

−→∇(C) = 0 �E)EA�

�� �	�
� 
� ��	�� �
���
� <∫
Ω

−→∇ .
−→
V dΩ = 0

∫
Ω

(ρ(
∂
−→
V

∂t
+ (

−→
V .

−→∇)
−→
V ))dΩ =

∫
Ω

(ρ−→g −−→∇p +
−→∇ .((μ + μt)(

−→∇−→
V +

−→∇−→
V T )))dΩ∫

Ω

(
∂C

∂t
+
−→
V .

−→∇(C))dΩ = 0 �E)EH�



�� �������� � ������ ���
�����

����� �������
 	� ��
��������
 	� ���
�����

����� �������
 ������
�� �
 ���
���
� 
� �	����	 �	�
���� �� 
� ���	���4
������) ��

��	
��	 �����
� ��� 
� &�	�����
 ���
�	��� �
��	
� Ei �� ��
������ Ec ���
 �4����� ��	��

�
�	� ���' ����� ��
 ����
��	� ���	���4
������� ���������� E �� A ��� ��� ��' ����
���

���
�	���� ����
���� ����� ��	�� �� �	�&��
 δW1−2� �� ���	����� �δQ1−2�) 2� �	����	

�	�
���� ����	�� �
�	� <

D

Dt
(Ei + Ec) =

D

Dt
(δW1−2) +

D

Dt
(δQ1−2) �E)EJ�

2� ������
�� ����
���� �	�&��
� ��� ��	��� &�
�������
−→
F �� ��	�������� ���
���	 ���

��
�	��
��� ¯̄Σ = −−→∇p + ¯̄τ  �&�� ¯̄τ = (μ(
−→∇−→

V +
−→∇−→

V T ))�)

;�
� 
��	� ��� 
� ������
�� ���	����� ����
��� �&�� 
��'��	���	 �� 	����� ��' �	�
���	��

�� ���
��	 �� �4�� ��
������) ���'+�� ���&�
� 
� 
�� �� ���	��	 −→q = −λ
−→∇T  �&�� −→q 
�

&�����	 ��
���� �� L�' �� ���
��	)

"�	 ��

��	� ��
� �
 L���� �
����	�����
� 
��
�	��� �
��	
� ����	�� <

Ei =

∫
Ω

ρcvTdΩ

�P cv ��� 
� �������� ��
�	�/��� �������� $ &�
��� ��
���
�) 0� ��� ���	 �
 L���� �
+

����	�����
� 
�� ��������� ��
�	�/���� ��������� $ �	�����
 ��
���
�� �cp� �� $ &�
���

��
���
� �cv� ��
� ����&�
�
��� �
 ��
����	� c = cp ∼ cv 
� �������� ��
�	�/��� ��������

�� L���� �
����	�����
�)

�
 �����
�
� 
��������
 �E)EJ� �� ��

� �� ��
��	&����
 �� 
��
�	��� ��
������ �������� ��


��������
 �E)A�� �
 �����
� 
��������
 �� ��
��	&����
 �� 
��
�	��� <

∫
Ω

(ρc(
∂T

∂t
+
−→
V .

−→∇T ))dΩ =

∫
Ω

−→∇ .(λ
−→∇T )dΩ +

∫
Ω

−→∇ .(¯̄τ.
−→∇−→

V )dΩ �E)EI�

!� ��	�� 
���
� ��� <

ρc(
∂T

∂t
+
−→
V .

−→∇T ) =
−→∇.(λ

−→∇T ) +
−→∇.(¯̄τ.

−→∇−→
V ) �E)EC�

2� �	��� �
 ������ �� ���
����
� �� ����� �����
V��
���/�����
 �� �	����� ��	 
��.���

���
 ��	�� ���	�� S = −ρLfs
∂FRS

∂t
��� ����
��� 
��
�	��� 
���
�� �� ���
����
� �� ����� 

�P Lfs ��� 
� ���
��	 
���
�� 
�	� �� 
� �����
 ��� ��
���/�����
� �� FRS 
� �	�����
 ��
���)



�3� ����
��� 
��������� � 

���� �������
 	� ���
����� 	����!��

����� �������
 �	����� 
� ��
��	&����
 �� 
� ��
��
�	����
 �������� �� 
������� ��
��+

��	�� Sp ���� <
∂Sp

∂t
+
−→
V .

−→∇(Sp) =
−→∇.(D

−→∇(Sp)) �E)EF�

!� ��	�� �
���
� ��� <∫
Ω

(
∂Sp

∂t
+
−→
V .

−→∇(Sp))dΩ =

∫
Ω

−→∇ .(D
−→∇(Sp))dΩ �E)EK�

�
� ��	����� �
�����
��

����� "����	� 	�� ����
�� #
��

2�� �������
� �E)EC� �E)EK� �� �E)A� ��
� ��
�������� ���
 ��	�� �� &�	�����
 �����	�

�

�
∂Φ

∂t
� ���
 ��	�� ����&�����
 �

−→
V .

−→∇)Φ� �P
−→
V ��� 
� &������ $ 
����

� ��� ��&����� 
�

���
���� Φ ���
 ��	�� �� ��M����
 �
−→∇.(K(

−→∇Φ) +
−→∇ΦT )) �� Φ ��� �
� ��� �������
���

�� 
� &�������  
−→∇.(K

−→∇Φ) ��
�
� �� �� ��	��� ���	��� S �P Φ ��� 
��
��

�� 	��	���
��
�
−→
V  T  C �� Sp �� K �
 ���N���
� �� ��M����
) %
 ��
�
 �� L�' ��	 
� &�	���
� ���
��	�

Φ ��

� 
��������
 <
∂Φ

∂t
+ (

−→
V .

−→∇)Φ =
−→∇ .(K

−→∇Φ) + S �E)E:�

6
 ���� ��	�	� ��� �������
� ���� 
� ��	�� �
���
� <∫
Ω

(
∂Φ

∂t
+ (

−→
V .

−→∇)Φ)dΩ =

∫
Ω

−→∇.(K
−→∇(Φ))dΩ +

∫
Ω

SdΩ �E)AB�

���� ���� �� ��	�� ��
��	&���&� <∫
Ω

(
∂Φ

∂t
+
−→∇.(Φ

−→
V )dΩ =

∫
Ω

−→∇.(K
−→∇Φ)dΩ +

∫
Ω

SdΩ �E)AE�

6
 �	����� ��� 
��������
 �E)AE� 
���� ���	� ����
 ��
�
 �� L�' Φ ��
� 
� �����
�

Ω) ��

�+�� ��� ����	������ $ ��	��	 �� 
� ������� ��� &�
���� /
�� ����� �
����� ��
�

Q",�,�T,- KBR)

�

� �� ��������� �
 �	��� ������ <

E) 6
 ��/
�� 
�� &�
���� �� ��
�	@
� ��	 
�����
� �
 &� ���	� ��� ��
�
� �� L�' Φ)

"	�
�
� �
 ���

��� ��	�����
 $ N 
D���) 6
 ��/
�� ���	 ������ 
D�� i ∈ [1, N ]

�
 &�
��� �� ��
�	@
� Vi ��
�	� �
 i �� ��

� ��S�
 ���
⋃N

i=1 Vi = Ω̄ �� Vi

⋂
i�=j Vj =

faceij ) faceij ��� 
� ���� contigüe ��' ���' &�
���� �� ��
�	@
� Vi �� Vj )



�' �������� � ������ ���
�����

A) %
 ��
�
 �� L�' Φ ��� ���� ��
� ������ &�
��� �� ��
�	@
� Vi i ∈ [1, N ]

∫
Vi

(
∂Φ

∂t
+
−→∇.(Φ

−→
V ))dVi =

∫
Vi

−→∇.(K
−→∇(Φ))dVi +

∫
Vi

SdVi �E)AA�

6
 	���	��� ��� �� �
 ����� �E)AA� ��	 i ∈ [1, N ] �
 	��	��&� 
��������
 �E)AE�)

H) 2��������
 �E)AA� ���� 1�	� ����	������ �����
� ��� Φ ��� ��

�� ��' 
D��� ��

����	��������
 i ∈ [1, N ]) 2�� L�' �� ��
��
�
� ��	 
�� ����� faceij  (i, j) ∈ [1, N ] ×
[1, N ] �
 ��� 
�������	� ���
��	��
�	 Φ) 2� 
���	� �� 
��
��	��
����
 ����
� �� ��	��

�� 
��������
 �E)AA� ��� Q",�,�T,- KBR�

2� 	����

���
� ��� ���
����� ���
� 
� &�	���
� Φ ��� &����	��
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2����
������
 ��� &�
���� /
�� ��	 �
 ���

��� �
���� ��

���
��� ���	 ������ 
�� &�	���
�� 

��

� �� ��
� 	���
���� 
�	�����
 &��� 	�����	� 
��������
 �� 
��
�	��� �� ��

� �� �	�
�+

��	� ��������) (
 �
 ��� ���	���
� ���	 
��������
 �� ��&��	+!��G��) Q",�,�T,- KBR

�'�
���� ��� 
����
������
 ��� &�
���� /
�� ��
� ��� ��
�����
� 
� ��	��� ��� �� �	����	 
�

��	�� �� �	����
� �� �	�����
 ��
� 
��������
 �E)A� ��		������
�) �
 �M�� 
� &�	�����
 ��

�	�����
 �	��� �
 ������ 
� �� ���� ��� �
�	� ���' 
D��� ���������� ���� ���
 
D�� ��	

���') �
 ���
���
� 
��'���
� 1D ���
� �	�����
 �
 zigzag Q",�,�T,- KBR ��
�	� ���


� ��	�� dp
dx

��� ��
����	� ����� 
�
 �� ��
� ��� 
� �	�����
 ��� �
���	�� �� ��� ��� ���')

Q",�,�T,- KBR �	����� �
�	� ����� ��
����
 
����
������
 ���
 ���

��� ����
� �
�	�����

��	 Harlow ���
� �
 � �	���
�� 
� ������� MAC ���	G�	 ,
� ��

�� Q9,-26O CIR)

��
��+�� ��� ��
������ ���
� �	�

� �� �	�����
 ����
��	�� �� ���
� �	�

� ��	 �������
�� ��

&������ �&��	 /��	� E)E�)

!� �
 ��
����	� �
 ����
���
� $ ���' L����� �fluide1 �� &�������� μ1 fluide2 �� &��������

μ2� 
� ����	��
����
 ��� ��	��� �� �����

���
� ��
� 
� ��
���	 ��� &��������� 
��������


� ��

�����
�� �� 
� &�������� �� ��
�	� ��� ���

�� �� 
� �	�

� �� �	�����
) 2� &��������

���
� ��

�� ��	 
�� 
D��� �� �	�����
 �
 ��N� �� 
��
��	��
�	 �� ��
�	� ��� ���

��)

����
��
� 
� &�
��	 ����
�� ��� �
� �����
����
 
�
���	� �� μ1 �� μ2 �� ��� 
���� ���

�	�� ����������
�) %
� �	�

� �� &�������� � ��
� ��� �.����� ��' ���	�� �	�

�� �&��	 /��	�

E)A�) 2�� 
D��� �� 
� �	�

� �� &�������� �� �����
� ��' ��
�	�� ��� ���

�� �� 
� �	�

� ��

�	�����
) ���� ��	��� �	W�� $ 
� �	�����
 &�
������ �� ����	� �
 ��� 
D��� 
� &�
��	 ��


� &�������� �� L���� ��		����
��
�)
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maillage vitesses verticales
maillage vitesses horizontales
maillage pression

noeuds de vitesses verticales
noeuds de vitesses horizontales
noeuds de pression

����	� E)E < �������� ��	��� �� 
��� MAC


maillage vitesses verticales
maillage vitesses horizontales
maillage pression

noeuds de vitesses verticales
noeuds de vitesses horizontales
noeuds de pression

noeuds de viscosité

����	� E)A < �������� ��	��� �� 
��� MAC ������ �� � �����
� ��� ������ �� ���	���
��


����� $������������
 �� ���������
 	� ���������
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����� �� 	�
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����	� 
��������
 �E)E:� �P Φ 	��	���
�� 
� �����	���	� �� 
� ��
��
�	����


��������) !� ����	��������
 ���
����� �
 ����� ����	�� <

Φn+1 − Φn

Δt
+ (

−→
V n+1.

−→∇)Φn+1 + Limn+1
Φ =

−→∇.(Kn−→∇Φn+1)

�E)AH�



�7 �������� � ������ ���
�����

�P LimΦ ��� 
� ��	�� �� ��
�
������
 ��� ��	��� �� �	�
�	� �
 ������ 
�� 
������ �&��	


� ����+������
 E)A)I�) �
 �� ��� ��
��	
� 
� ��	�� ����&�����
 ��� �������
� ���
��	��

�E)EC� �� �E)EK� 
����
������
 �� ������� ���
������ ���	�	� �
�&� ��
 Lax − Wendroff ��

��
�	� ��

� ��� ��
����
� Φ �	������ 
�	���� ��

�+�� ��� 	���
��	�) "�	 ��
�	� ���
� 
�

��
����
 Φ ��&��
� �		���
��	� 
� ����	��������
 �� ��	�� ����&�����
 �&�� ��� �������

���
������ ���	�	� �
�&� ��� $ �	���	�	� ��	 �
� �	�&����
� 
� ��	�����
 ������

����
� ��� ��

��&�
����
�) 2� ��
����
 /
�� �
�	� ��	 ��&�	��	 Q9(-!�9 :BR ��� /��	� E)H �	�����)

2�� ������� ���
������ ���	�	� ��� �
�&� ����� 
� ������ UPWIND ��	 �'���
� 

����	� E)H < �������
��� ����� ���	
��� C(x) = (0.5 + 0.5tanh(80 ∗ (x − 0.1))) 


����������� ��
�� �� �	���� ������ � ���	�� �
 �� !"�����# � ����
�


��	�����
� ���&���	 
�� ����

����
� ���� �
� ��
� �	�� ��M����� ��� /��	� E)H �������)

;�
� 
� ���
��� �� 
� ��
����
 ��� ��	����
� ���	���� Q9(-!�9 :BR) %
� ���� ��� ��
�

�����
���
��	 �
 ������ WENO �O������� ����
���

4 ��
+6���

���	4� Q2(% :JR ��

TV D �����
 0�	�����
 ;���
����
�� Q2�0�X%� :AR ��� ��	��� ������
�	 �
 �	�	� ��

������ ����������
� ���� �
 �&���
� 
�� ����

����
� �
 �	���
�� �� ����� �����
��
�) ��

��
� ��� ������� �'�
������ ��	 
� &�	���
 ���
����� �� ��� ������� ����
�� �
� CFL

�Courant − Friedrich − Levy� ����� 	���	����&� ��� 
� &�	���
 �'�
�����) ����� CFL ��+

��	� 
� �����
��� �� ��� ������� �� ��
����� $ ������	 ��� 
��
��

�� Φ ��	���	� ��
��
�


� ����� Δt �
� �����
�� �
��	���	� �� ���
� $ 
� 
�
����	 ���
� ����+���

�)

2� ��	�� �� ��M����
 ��� �������
� ���
��	�� �E)EC� �� �E)EK� ��� �	���� �&�� �
 ������ ��+

�
����� ��
�	� ��
� ��� 
� ���N���
� �� ��M����
 ��
���
��	� �	�������&���
� 
� ���N���
�

�� ��
������
� �� 
��������
 �E)EK� �	�������&���
� �E)EC�� ��� ����	���	 $ �
� &�
��	 �	�+
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��� 
��������� ��

�����) "
�� �	�������
� �� �
 ��	�� 
��������
 �E)EC� �� �E)EK� ���� 
� ��	�� ���
 �4�����


�
���	� $ 	�����	� �
 �����
� An+1Φn+1 = Bn �P Bn ��� 
� ����
� ����	� $ 
����	����



 Φn+1 
��
��

�� ������	���	� �� ��
��
�	����
 ��������� $ 
����	����
 n + 1 �� An+1


� ���	��� �� ����	��������
 $ 
����	����
 n + 1) 2�� ��	��� �����
��' �� An+1 ��
� ��


��	�	� �� 1
Δt

��
��� ��� ���' �'�	�+�����
��' ��
� �� 
��	�	� �� K
Δx2 ) !� K � Δx2

Δt
 �
�	�


� ��
&��	 ���
����� ��&��
� �
�N����) ;�
� �� K � Δx2

Δt
 �
 ���
���	� �
��@� �
 ������

�'�
����� ��
�	� ���	 	�����	� 
� ��	�� �� ��M����
 ��� �������
� �E)EC� �� �E)EK�) ;�
� 
�

��� ���
� 	���
����
 ���
����� �� �� ��	�� �� ��M����
 
� ��
&��	 ���
��� ��� 
��
��	�����

���	���� �� Bi − CGStabII �#�+��
.����� 5	����
� !����
�3��� �&�� �
 �	���
�����

�+

��
� �� JACOBI ��� Q5%!�,�!!6� FKR �� Q06-!� :AR�)

���� $������������
 �� ���������
 	� ���������
 	� �������������

;�
� ����� ��	��� �
 &� ���	�	� �	��&���
� 
� ����	��������
 ��� �������
� �� ��&��	+

!��G�� �'�	����� �
 &������+�	�����
) 6
 	����

� ����
 ������ �� ��
��
�	 $ ������ �
���
�


� ����
� �&������ �	�����
� &�	�/�
� $ 
� ���� 
� ��
��	&����
 �� 
� ���
���� �� ���&���
�

�� 
� ��
�	��
�� ���
����	������
���)

,&�
� �� �	���
��	 
��
��	����� �� ��
��
 �� 
� �	�����
 �� �� 
� &������ 
��� �

�
�

�	���
��	 
� ����	��������
 ������+�����	�

�)

%�����������

 ����
�����

2��
���	����
 �����	�

� ��� 	��
���� �� ��
��	� �
������� &�� �
 ������ ���	�	� E)

%
 ������ ���
����� ��
�	� ��� ���
��� ���	 
� ��	�� ���
�	��� Q",�,�T,- KBR) ��
��	+


�
� 
�� ��	��� &������' �
 ������ ���
����� ��
�	� ���	�	� A ��� ���
���) 2� ����' ��

��� ������� ���
������ ��� &�
��
� ���	 �
 ����� �� &������ ��
��
� ���� 
� ��
�	��
��

���
����	������
���) (
 
�4 � ��
� ��� �� CFL $ ��������	�)

%
� ���� ����	����� �
 ����� �� $ 
��	�	� E 
� �	��
��� ��
��
� ��&��
� < ��

�����
�



�. �������� � ������ ���
�����

−→
V n 

−→
V n−1 �� pn ���	���	

−→
V n+1 �� pn+1 ��
����
� ��

−→∇.
−→
V n+1 = 0 �E)AJ�

ρn(

−→
V n+1

Δt
+ (

−→
V n.

−→∇)
−→
V n+1) +

−−→
Limn+1−→

V
= ρn−→g

−−→∇pn+1 +
−→∇ .(μn(

−→∇−→
V n+1 +

−→∇T−→V n+1)) + ρn(

−→
V n

Δt
)

�P
−−→
Lim−→

V
��� �
 ��
���	 ���	�	� �
 
�� $ 
� ������� �� ��
�
������
 ���	 �	����	 
�� ��
��+

���
� ��' 
������ �&��	 ���� ������
 E)A)I�)
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��� ��� 
� �	�����
 �� 
� &������ ��
� ����
��� �� ��� 	�
� 
� ��Y� �� 	���
����


�� �4����� �
���	���� /
�
 �	�������� 
������
� ���
� �
 �����	� �� ����
�	 ��� ����
�+

��
�� �
������

��	�� �� ����
�'��) "��	 ��
���	
�	 ����� ��N��
�� �
�����	� �
��	������

��
� �	������ ��
� 
� 
����	���	� ��� Q"�>-�� KHR� �/
 �� 	��
���	 �
 ������
��� 
� �
��

��
�����
� �� �	���� ������
�) 6
 �� ��
��
�� ��	 
� ����� �� ��

�	 �
 	����� �� 
��
��+

	����� ���
��� ��
� 
� ���	� �� �� �	�&��
)

����
�� �� ��0��
0��
 ��0��
��

2� ������� ���� �� 
��	�
���
 �����
�� ���� ��	��� �� 
� ����

� ��� �
��	������

��
�
���
� $ 
� ���� 
� ��
��������
 ���� ��
�	��
�� �� 
�����
�	����
 �� ��
&�	��
�� &��

�
 ��	�� �� �4�� ��
�
������
)

2� �	��� �
 ������ �� 
� ��
�	��
�� ��� ����	�� ��	 
� ����� ���
 ��
���
������	 �� 2��	�
��

�
� �	�����
�) 2� ������
��� �� 
� &������ �� �� 
� �	�����
 ��� ���
����� �
 &������ ��

�'�
����� �
 �	�����
 �Q�6-�(� KAR�)

����
� <

L2(Ω) = {f tel que

∫
Ω

|f |2dΩ < ∞}

H1
0 (Ω) = {f ∈ L2(Ω),

∂f

∂xi

∈ L2(Ω), i ∈ [1, 3], f |∂Ω = 0}

"
�� �	�������
� �
 ��/
�� �
� ��
����

�

� J(
−→
V ) ���	 ����

−→
V ∈ H1

0 (Ω) ����� �� 
�

��	��
����
 ����
� �� 
��������
 �� ��
��	&����
 �� 
� ���
���� �� ���&���
�) (
 ������

�� ��
�����	 ����� ��
����

�

� ���� 
� ��
�	��
�� M = {−→V ∈ H1
0 (Ω)��
 ���

−→∇.
−→
V = 0})

��
� ��		����
� $ �	��&�	
−→
U ∈ M ��
 ��� <

J(
−→
U ) = min−→

V ∈M
(J(

−→
V )) �E)AI�



�3� ����
��� 
��������� �!

6
 �	�
���	�� �� �	��
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��������
 ���� ��
�	��
�� �
 �
 �	��
��� �� ��+


��������
 ��
� ��
�	��
�� �
 �
�	������
� 
� �	�����
 q ����� �
 ��
���
������	 ��

2��	�
��) 6
 ��/
�� 
� 2��	�
���
 ����� <

L : M × L2 → �
(
−→
V , q) 
→ L(

−→
V , q) = J(

−→
V ) −

∫
Ω

q
−→∇.

−→
V dΩ �E)AC�

2� �	��
��� �� ��
��������
 �E)AI� ��
����� $ �	��&�	 
� ���
� ��

� (
−→
U , p) ∈ M × L2 ��


��	�
���
 �E)AC� �����+$+��	� �	��&�	 
� ����
� (
−→
V , q) ∈ M × L2 &�	�/�
� <

L(
−→
U , p) = min−→

V ∈M
(maxq∈L2(L(

−→
V , q)))

= maxq∈L2(min−→
V ∈M

(L(
−→
V , q))) �E)AF�

,/
 �����
��	�	 
�� �	��	����� �� ��
&�	��
�� ��� Q�6-�(� KAR� �
 �
�	����� �
 ��	��

�� ��
�
������
 �����
� ����	�=�	� 
� ��
�	��
�� ���� < dr
2
|−→∇.

−→
V |2 −→V ∈ H1

0 (Ω) dr ∈ �)

����
� 
� 
��	�
���
 �����
�� <

Lr : M × L2 → �
(
−→
V , q) 
→ L(

−→
V , q) = J(

−→
V ) −

∫
Ω

q.
−→∇.

−→
V dΩ +

∫
Ω

dr

2
|−→∇.

−→
V |2dΩ �E)AK�

2� �	��
��� �� ��
��������
 �E)AC� ��
����� �
�	� $ �	��&�	 
� ���
� ��

� (
−→
U , p) ∈ M ×L2

�� 
��	�
���
 �E)AK� �����+$+��	� �	��&�	 
� ����
� (
−→
V , q) ∈ M × L2 &�	�/�
� <

Lr(
−→
U , p) = min−→

V ∈M
(maxq∈L2(Lr(

−→
V , q)))

= maxq∈L2(min−→
V ∈M

(Lr(
−→
V , q))) �E)A:�

�
 	�&�
�
� $ 
� ��	��
����
 ��	�� �� �	��
��� �
 ����� ��� 
� ���
� ��

� ��� �����

��
����
 �� �	��
��� ����� � ��� ��
�	� ���	 
�� �������
� �� !��G�� �� ��� ����� ���	


�� �������
� �� ��&��	+!��G��� <

ρ(
∂
−→
V

∂t
+ (

−→
V .

−→∇)
−→
V ) = ρ−→g −−→∇p +

−→∇.(μ(
−→∇−→

V +
−→∇−→

V T )) − dr
−→∇(

−→∇ .
−→
V )

�E)HB�

−→∇.
−→
V = 0 �E)HE�
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2� ����	��������
 ���
����� �� �4����� �E)HB�+�E)HE� ����	�� <

ρn(

−→
V n+1

Δt
+ (

−→
V n.

−→∇)
−→
V n+1) +

−−→
Limn+1−→

V
= ρn−→g −−→∇pn+1

+
−→∇.(μn(

−→∇−→
V n+1 +

−→∇T−→V n+1))

+ρn(

−→
V n

Δt
) + dr

−→∇(
−→∇ .

−→
V n+1)

�E)HA�

−→∇.
−→
V n+1 = 0 �E)HH�

6
 	���	��� ��� 
� ���
� ��M�	�
�� �
�	� 
� �4����� �E)AI� �� �E)HA�+�E)HH� ��� 
��.���

�� ��	�� �� ��
�
������
) �
 ����	&�
� 
� �4����� �E)HA�+�E)HH� �
 &��� ����
 
�4 � ���

���������
 �'�
����� ��	�����
� 
� ��
��
 �� 
� �	�����
) ����� 
� ��N��
�� 	����� ��
�

��
� 
� ����	��
����
 �� 
� �	�����
 $ ��	��	 �� �4����� �E)HA�+�E)HH�) ����
� 
� �4�����

�E)HA�+�E)HH� ���� 
� ��	�� <

A
−→
V n+1 + Gpn+1 = F �E)HJ�

D
−→
V n+1 = 0 �E)HI�

A ���
� �
&�	���
� 
��������
 �E)HJ� ��

� <

−→
V n+1 + A−1Gpn+1 = A−1F �E)HC�

�
 ��
���
��
� $ ������ 
�� ��	��� �� 
��������
 �E)HJ� ��	 D �
 �����
� <

D
−→
V n+1 + DA−1Gpn+1 = DA−1F

�E)HF�

�	 D
−→
V n+1 = 0 ��
� �
 ���� ��
��
�	 
� �	�����
 �
 	���
&�
� 
� �4����� ��
 	���

�=�	�


����	����	 ��Uzawa < DA−1G� <

DA−1Gpn+1 = DA−1F �E)HK�

2� �4����� �
���	���� ���� �� �E)HK� ���� 1�	� 	���
� ��	 ��M�	�
��� �������� ���	���&��)

!���
� pn+1
0 = pn �� m 
����	����
 �
 ���	� �� 
��
��	����� ���	����) 6
 ������� 
� �������

���	���&� �� -����	���
 ��� ��
����� $ ����	��
�	 pn+1 �� 
� ��S�
 ���&�
�� <

pn+1
m+1 = pn+1

m − dp(DA−1F − DA−1Gpn+1
m )

�E)H:�



�3� ����
��� 
��������� ��

�	 DA−1F − DA−1Gpn+1
m = D

−→
V n+1

m  ��
� <

pn+1
m+1 = pn+1

m − dpD
−→
V n+1

m+1

�E)JB�

"	�����
� ��� 
� ���	��� A ���
� 
�
 �4���	���� �� ��
 ��
�����

�� 
� 	���
����


�� �4����� �
���	���� �E)HJ� ��� 	��
���� �	W�� $ 
��
��	����� BiCGStabII �
�	����� ��	

Q06-!� :AR �	���
�����

� ��	 �
� �����	������
 MILU �Q5%!�,�!!6� FKR�)

2� 	���
����
 �� �4����� �E)HJ�+�E)HI� ��� �
��	�� ��
� �
� ����
� �
 ���	����
� �� 
��	�
+

���
 �����
�� k ��� ��	��� �� ���	� ����
��	 
� &�
��	 ��4�

� �� 
� ��&�	��
�� divmoyen)

��� ���	����
� �����
� ��� ��� divmoyen � �����
� �
� &�
��	 ��N�����
� ����
�) ����
�

kmax 
� 
���	� �����	����
� �
 
��	�
���
 �����
�� ����
 ���� �M�����	 ���	 �����
�	�

����� &�
��	 
��
��	����� �� 
��	�
���
 �����
�� ����	�� <

E) (
����
������
 <
−→
V k=0 =

−→
V n �� pk=0 = pn

A) (��	����
� < ���	 G �

�
� �� B $ kmax − 1

ρn(

−→
V k+1

Δt
+ (

−→
V k.

−→∇)
−→
V k+1) +

−−→
Limk+1−→

V
= ρn−→g −−→∇pk

+
−→∇ .(μn(

−→∇−→
V k+1 +

−→∇T−→V k+1))

+ρn(

−→
V k

Δt
) + dr

−→∇(
−→∇ .

−→
V k+1) �E)JE�

pk+1 = pk − dp
−→∇.

−→
V k+1 �E)JA�

H) ����
� ��
����
 <
−→
V n+1 =

−→
V k=kmax �� pk=kmax = pn+1
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 	���	���	� ��� 
� 	���
����
 �'�
����� �� 
� �	�����
 ����
�� �&�� 
��������
 �E)JB� 


��� �&��� ��������	 ��� ��
�����
� ��' 
������ ���	 ��

�+��) 2��&�
�����
 ��� ��	����	��

dp �� dr ��� ��
����� ��	 
�� �������
� ���
����� 
� ��
� ��� �����
���

���) ;�� �	�&��'

	���
�� �
� ��� �M������ ��	 Q0(����� BJR ���	 
�� ����	��
�	 �� ��S�
 �����������)

����% $������������
 �� ���������
 	� ���
����� 	��
���&���

"��	 �
 ����
���
� ���������� 
� ����
� 1− fluide ��� ���
��� ���	 
� 	���
����
 ���

�������
� �� ��&��	+!��G��) 2� �	�
���	� �� 
��
��	���� ��� 	��
��� ��	 
� ������� V OF

�0�
��� 6� �
����� �� Q9(-� KER)



�� �������� � ������ ���
�����

����� ������� ��
����� $ 	���	�	 ������ L���� i ∈ [1, 2] ��	 �
� ��
����
 �� ����� ����
��

�
��	� ��
����
 ���
��	 Ci �	��	� $ ������ L���� i i ∈ [1, 2] ��/
�� ��	 

Ci(M, t) = 1, ∀M ∈ fluidei

Ci(M, t) = 0, ∀Msinon. �E)JH�

2�	���� 
��
��	���� ����� �
� ���

� 
�� ���' L����� ��
� �	���
� ��
� 
� ���

�) 2�

��
����
 �� ����� �	�
� ��
� �� ��� �
� &�
��	 ��	������
� ����	��� �
�	� 0 �� 1) �

�

��	��� ��
�� �� 	��	���
��	 
� �	�����
 �� fluidei ��
� ������ ���

�) 2� �	�
���	� ��


��
��	���� ��� 	��� ��	 
��������
 ����&�����
 <

∂Ci

∂t
+
−→
V .

−→∇(Ci) = 0 �E)JJ�

2� ����� &�
������ �� 
� &�������� ��
� ��	������
� 	���
��
��� $ ��	��	 �� 
� &�
��	 �� 
�

��
����
 ���
��	)

;�
� 
� ��
��'�� V OF  �
 ���� 	�����	� 
��������
 �E)JJ� �� �
�����	� ��S�
� <

Z 
� �	����	� ������� ��
����� $ 
� ����	�����	 �
 ���
���
� �
 ������ TV D �� WENO

�� �	���	�
�� ��� 	���	�	 $ 
� ���� ������
 E)A)E �� $ Q9(-!�9 :BR Q2�0�X%� :BR ��

Q0(����� ::R�) ��

�+�� �
�	����� �� 
� ��M����
 
���	���� ��	 ���' $ �	��� ���

��

�����	 �� 
��
��	����) 6
 
� ��

�=� ��
� 
� �������
 �� 
��
��	���� ������	�'�����+

&���
�)

Z 
� ���'���� ������� ����
�� V OF −CIAM  ��&�
����� ��	 Q>6%�5! KAR �� ���+


��� ��	 Q[,2�!T( R ��	 �'���
� ��
����� $ ���
���	 
��������
 �E)JJ� ���	 	���
�+

�	��	� ������	������
� 
��
��	����) ���� ��	��� �� ��

�=�	� 
��
��	���� �� ��
��	�

�	�� �	�����) ����
��
� ����� ������� � ��
��
�� $ �	�����

�	 
��
��	���� 
�	����

��

�+�� ��� �	�� /
� �� ��	����
� �����

��)

2� �	��� �
 ������ ��� ��
���
� ����	/���

�� �� ���� ��	 
��.��� �� 
� ��	�� �� ��
���


����	/���

� FTS ����� ��	�� ���	�� �� 
��������
 �E)A� ��� Q#-,�T#(22 :AR� <

FTS = −γ∇Ci∇.(
∇Ci

||∇Ci||) �E)JI�

�&�� γ 
� ���N���
� �� ��
���
 ����	/���

�)



�3� ����
��� 
��������� � 

����' (�����
�
� 	�� ��
����

2����������
 ��� ��
�����
� ��' 
������ �� ���� &�� �
� ������� �� ��
�
������
 ���

� ��� ��&�
����� �� 
���	����	� TREFLE ��	 Q,�56� K:R �� QT9,;-, :JR) ��

�+��

�����
���� ��' ��M�	�
�� �4��� �� ��
�����
� ��' 
������ < ;�	���
�� �����

) 6
 ��
��+

��	� Φ 
��
��

�� ���
��	� 	��	���
��
� 
� �����	���	� �� 
� ��
��
�	����
 �������� ��
−→
V = (u, w) 
��
��

�� &������) "���
� Φ∞(M, t) �	�������&���
�

−→
V ∞(M, t)� 
� &�
��	 ��

Φ �	�������&���
�
−→
V � �
 �
 ���
� M ���
��
��� $ 
��'��	���	 �� �����
� Ω �� �	�
���	�

∂Ω) 2� ������� ��
����� $ �'�	���	 
�� ��
�����
� ��' 
������ ���� 
� ��	�� ���
 L�'

��	������� <

−(
∂Φ

∂n
)∂Ω = BiΦ(Φ∂Ω − Φ∞) �E)JC�

−(
∂
−→
V

∂n
)∂Ω = ¯̄Bi−→

V
(
−→
V ∂Ω −−→

V ∞) �E)JF�

BiΦ ��� �
 	��
 �� ¯̄Bi−→
V

��� �
 ��
���	 ���	�	� ���' �����
�
 (Biu, Biw) ��� ��
� ����


�
 ���� �
/
�)

Z !� BiΦ = 0 �
�	� (∂Φ
∂n

)∂Ω = 0) ����� ��
� �
� ��
�����
 �� �����

 ��� ��� �������)

Z !� BiΦ → ∞ �
�	� Φ∂Ω = Φ∞) ����� ��
� �
� ��
�����
 �� ;�	���
�� ��� ��� �������)

Z !� Bi−→
V

= 0 �
�	� (∂
−→
V

∂n
)∂Ω = 0) ����� ��
� �
� ��
�����
 �� �����

 ��� ��� �������)

Z !� Bi−→
V

→ ∞ �
�	�
−→
V ∂Ω =

−→
V ∞) ����� ��
� �
� ��
�����
 �� ;�	���
�� ��� ���

�������)

����	������
� ����� ���	���� �� �	����� ��	 
��
�	�������
 �� ��	�� LimΦ = BiΦ(fΦ−
Φ∞) �P fΦ ��� �
� ��
����
 ����	��� �� Φ ��
� 
��������


∂Φ

∂t
+ (

−→
V .

−→∇)Φ =
−→∇ .(K

−→∇Φ) �E)JK�

�� ��� ��

� 
��������
 ���&�
�� $ 	�����	� ���	 
�� ���
��	�� <

∂Φ

∂t
+ (

−→
V .

−→∇)Φ + LimΦ =
−→∇.(K

−→∇Φ) �E)J:�

BiΦ ��� �
 	��
 �
�����
� 
�����	��
�
�� �� ���
� � $ 
��
��	���	 �� �����
� ������� ��

��' 
������ �� 
� �4�� �� ��
�����
 $ ������	) ��
��+�� &�	�/� <

) BiΦ = 0 �� � ����	���
� $ 
��
��	���	 �� �����
� Ω 



�' �������� � ������ ���
�����

) BiΦ = 1040 �� M ∈ ∂Ω ���	 �
� ��
�����
 �� ;�	���
��)

) BiΦ = 1040 �� M ∈ ∂Ω ���	 �
� ��
�����
 �� �����

) "
�� �	�������
� 
� &����


�� 
D�� � �� �����
� $ 
��'��	���	 �� �����
� Ω ��� 	���
��� ��	 ��
 �4���	����

��	 	����	� $ 
� 
�����)

X��
� $ 
� ��
����
 fΦ �

� ��	��� �����
����	 
� ��
�����
 ��' 
������ ���������)

"�	 �'���
� ���	 �
� ��
�����
 �� ;�	���
�� �
 &��� ������	 Φ∂Ω = Φ∞) 6
 � ��
�

∀M ∈ ∂Ω fΦ(M) = Φ(M)) ,�
�� LimΦ(M) = 1040(Φ(M) − Φ∞))

;� �1�� ��� ���	 
�� ���
��	�� 
� �	������
� ��� 
������ ��	 
� ������� �� ��
�+


������
 ���	 
�� &������� �� �	����� 
���	������
� ��	 
��
��	���
 �� &�����	
−−→
Lim−→

V
=

(Biu(fu−u∞), Biw(fw−w∞)) �P (fu, fw) ��� �
� ��
����
 ����	��� �� (u, w) ��
� 
�����+

���
 �� ��
��	&����
 �� 
� ���
���� �� ���&���
� ���� <

ρ(
∂
−→
V

∂t
+ (

−→
V .

−→∇)
−→
V ) +

−−→
Lim−→

V
= ρ−→g −−→∇p +

−→∇.(μ + (
−→∇−→

V +
−→∇−→

V T )) �E)IB�

Biu �	�������&���
� Biw� ��� �
 	��
 �
�����
� 
�����	��
�
�� �� ���
� Mu�	�������&���
�

Mw� $ 
��
��	���	 �� �����
� ������� �� ��	 ��� 
������ �� 
� �4�� �� ��
�����
 �������)

�����
 &�	�/� <

) Biu = 0 �� Mu ����	���
� $ 
��
��	���	 �� �����
� Ω)

) Biu = 1040 �� Mu ∈ ∂Ω ���	 �
� ��
�����
 �� ;�	���
��)

) Biw = 1040 �� Mw ∈ ∂Ω ���	 �
� ��
�����
 �� ;�	���
��)

) "��	 �
� ��
�����
 �� �����

 �P Mj ∈ ∂Ω j ∈ {u, w} �
 ������ Bij = 1040 $


� �������
�� �� &������ 
�	��
� $ 
� 
�����) 6
 ������ Bij = 0 $ 
� �������
��

�� &������ ��
��
���

� $ 
� 
����� �� �
 ���
���� 
� �1�� 	�
����
 �� �4���	�� ���

���	 
� ��� ���
��	�)
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 	����

� ����
 �	�&��

� ��	 �
 ���

��� ����
� �� �4�� MAC) 2� �	�

� ��� 
D���

�� �	�����
 ��\
���� �&�� 
� �����
� Ω) 2�� ���	�� �	�

�� ���
� ����
��� 
�� &�������

����	��
�
� ��' 
������ �� 
��	 �	�

� �� ���
� 
�	��
�� $ ∂Ω ��
� $ 
��'��	���	 �� �����
�

Ω) X��
� ��' &������� ����	��
�
� ��' 
������ �� 
��	 �	�

� �� ���
� ��
��
���

�� $ ∂Ω

�

�� ����	���

�
� $ ����� 
�����) 2� ��
����
 (fu, fw) ��	��� �����
����	 
� ��
�����


��' 
������ ��������� ��	 ∂Ω)
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6
 �����

� 
� ��� ���
� ��
�����
 ��' 
������ �� ;�	���
��) !��� (u∞, w∞) /'� �
 ������

(u(Mu), w(Mw)) = (u∞, w∞)) 6
 �� 	���	�	� ��' /��	�� E)J �� E)I ���	 
�� 
������
�)

���
���
���

���
���
���

���
���
���

���
���
���

��
��
��

��
��
��

���
���
���

���
���
���

W

W

Mu

UeUwUw Ue

Mu

W

W

Limite gauche Limite droite

����	� E)J < $���
����
 �� �� 	����
��� �� ����
�� �� %���	���
 ���� �� ��
���� �& ����

��� ����
�� ���	�� �
 ����
�


���
���
���
���

���
���
���
���

���
���
���
���

���
���
���
���

��
��
��

��
��
��

��
��
��

��
��
��

Wn

MwU

Ws

U

Ws

Mw UU

Wn

Limite haut

Limite bas

����	� E)I < $���
����
 �� �� 	����
��� �� ����
�� �� %���	���
 ���� �� ��
���� �& ����

��� ����
�� '�� �
 ���



Z !� �
 ��� ��	 �
� 
����� ������ �� �	���� �
�	� <

fu(Mu) =
1

2
(uW + uE)

fw(Mw) = w(Mw)

Biu = 1040

Biw = 1040



�7 �������� � ������ ���
�����

Z !� �
 ��� ��	 �
� 
����� ��� �� ���� �
�	� <

fu(Mu) = u(Mu)

fw(Mw) =
1

2
(wN + wS)

Biu = 1040

Biw = 1040

�
� ���� �� ����� �� ��AMR
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 	����

� ����
 ���
��	���� $ ��� ����
���
�� ���������� �� ��
��������� �&��

�	�
���	� ��������� �
�	��� ����
���
� ��M���&��) 2� �	������
 ��� ��
����
� ��� ����
���

�

���	 �
�
4��	 �� �4�� ������
���
�) (
 ��� ��
� �
�����
���
� �����
���	 ��� ���
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 �'���� ����� ��
� 
� 3�
� �� 	����&	���
� ��� 
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�
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noeud vitesse de la cellule droite

noeud vitesse de la cellule gauche

noeud pression générateur d’une cellule

cellule droite

cellule gauche
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noeud vitesse de la cellule droite

noeud vitesse de la cellule gauche

noeud pression générateur d’une cellule

cellule droite

cellule gauche

����	� A)K < ����� ��� ��� �8��� ��
����� ����� ��� � z �� ��� 	������� AMR ��������
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D��� ����	��
�
� $ 
� ����

$ 
��
��	���	 ���	���� ���
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� ��
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noeud pression générateur d’une cellule

noeud vitesse de la cellule haut

noeud vitesse de la cellule bas

connexion

cellule bas

cellule haut

����	� A): < ����� ��� ��� �8��� ��
����� ����� ��� � x �� ��� 	������� AMR ��������
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/
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+
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�� 0) !����
� ����
 ��	���	� ���	 ������ ��

�
� AMR 
�� &������� %

���� 0 
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���	� �
���
 ��� < LV P1 = KKV I +(IC −1)DIMTV + I +K(RAF +3)+1

���	 % �� LV P2 = KKV I+(IC−1)DIMTV +I+K(RAF +2)+1+(RAF +3)(RAF +2)

���	 0) ,&�� KKV I 
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DIMTV 
� 
���	� �� 
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�
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� �� 	�N+
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� I ∈ {0, RAF + 2} ���	 % �	��� I ∈ {0, RAF + 1} ���	 0� 
��
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noeud pression générateur d’une cellule

connexion

noeud vitesse de la cellule haut

noeud vitesse de la cellule bas

cellule haut

cellule bas

����	� A)EB < ����� ��� ��� �8��� ��
����� ����� ��� � z �� ��� 	������� AMR ��������

��� �� �8�� �	������ �
 ��� ������ 9��
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�
�� AMR �� 
�&��� GL ��
� ���	 % <

Z UL
G,I,K ��
 ��� {I = 0 K ∈ {1, RAF}} ���	 
� 
����� ������)

Z UL
D,I,K ��
 ��� {I = RAF + 2 K ∈ {1, RAF}} ���	 
� 
����� �	����)

Z UL
B,I,K ��
 ��� {K = 0 I ∈ {1, RAF + 1}} ���	 
� 
����� �
��	���	�)

Z UL
H,I,K ��
 ��� {K = RAF + 1 I ∈ {1, RAF + 1}} ���	 
� 
����� ����	���	�)

Z UL
BG,I,K ��
 ��� {K = 0, I = 0} ���	 
� ���
 ��� ������)

Z UL
BD,I,K ��
 ��� {K = 0, I = RAF + 2} ���	 
� ���
 ��� �	���)

Z UL
HG,I,K ��
 ��� {K = RAF + 1, I = 0} ���	 
� ���
 ���� ������)

Z UL
HD,I,K ��
 ��� {K = RAF + 1, I = RAF + 2} ���	 
� ���
 ���� �	���)

�� ���	 0 <

Z V L
G,I,K ��
 ��� {I = 0 K ∈ {1, RAF + 1}} ���	 
� 
����� ������)

Z V L
D,I,K ��
 ��� {I = RAF + 1 K ∈ {1, RAF + 1}} ���	 
� 
����� �	����)
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Z V L
B,I,K ��
 ��� {K = 0 I ∈ {1, RAF}} ���	 
� 
����� �
��	���	�)

Z V L
H,I,K ��
 ��� {K = RAF + 2 I ∈ {1, RAF}} ���	 
� 
����� ����	���	�)

Z V L
BG,I,K ��
 ��� {K = 0, I = 0} ���	 
� ���
 ��� ������)

Z V L
BD,I,K ��
 ��� {K = 0, I = RAF + 1} ���	 
� ���
 ��� �	���)

Z V L
HG,I,K ��
 ��� {K = RAF + 2, I = 0} ���	 
� ���
 ���� ������)

Z V L
HD,I,K ��
 ��� {K = RAF + 2, I = RAF + 1} ���	 
� ���
 ���� �	���)

%
� ���� 
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���� �� ��� 
D��� ����
�� �
 ���� ����	��
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�
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+

��	���� GL−1VGL) ��

�+�� ��� ����	��
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���� ��� 
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 ��+

��	��
�
� $ 
��
��	���� GL−1VGL) !��� P L−1∗
m,i i ∈ {1, KKTI} 
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����
� ��� 
D��� ��

�	�����
 �	�����	� �4�
� ��
�	� �
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�
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� �� ���
� �
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����� ��� �
�
���
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� 
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��	���� GL−1VGL) ��
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� P L∗
m,i i ∈ {1, DIMTT} 
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����
� ��� 
D��� �	���

��	 �
 
D�� P L−1∗
m ) 2�	���� P L∗

m,i 
� ��
� ��� ��� ���
� 
� 	����	��� ��� ����	� &����
�

�	�����	� �� P L−1∗
m ��N� ���	 ��&��	 �� �
 ���� �
��	��
�	 
�� 
D��� &������� /
� ��� 
������

�� ������ ��

�
� AMR) "��	 
�� 
D��� �� �	�����
 �� �	��&�
� ��' ���
� ���
� ��

�
�

AMR �� 
���� �
�� ��N��
� � �� ������� �� ����	��������
 ��� 
D��� �� &������ A)EF ��

A)EK� �
 ���� ����� �����	 
�� &����
� ��
�����) ,�
�� ���	 
� ���
 ��� ������ �	��� �	����

�
 ����� 
� &����
 P L−1∗
sw,i �	��� P L−1∗

se,i �) "��	 
� ���
 ���� ������ �	��� �	���� �
 ����� 
�

&����
 P L−1∗
nw,i �	��� P L−1∗

ne,i �)

����

Pm
L−1 *

Pe
L−1 *

����

Pm
L−1 *

Pne
L−1 *

Pe
L−1 *

����	� A)EE < �� ���� ������ =�
 � ������ ��� 	������ AMR
 -�	�� ������ �'�����

*���	��2& �� ������ �'����� *����
�2
 <8��� ��
������� ��������
�� �� ����
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 ������ ��� 	������ AMR
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�2
 <8��� ��
������� ��������
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L−1 *
Pw

L−1 *
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�
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�
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L−1 *
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L−1 *
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L−1 *

����	� A)EH < $���� ������� ��
 ������ ��� 	������ AMR
 -�	�� ������ �'����� *���	��2&

�� ������ �'����� *����
�2
 <8��� ��
������� ��������
�� �� ����
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L−1 *

Pw
L−1 *
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L−1 *

����

Pm
L−1 *

Pw
L−1 *

Psw
L−1 *

L−1 *
Pne
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L−1 *

����	� A)EJ < %�� ������� ��
 ������ ��� 	������ AMR
 -�	�� ������ �'����� *���	��2&
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 <8��� ��
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L−1 *
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L−1 *

Psw
L−1 *

����	� A)EI < >��
�� ������� ��
 ������ ��� 	������ AMR
 -�	�� ������ �'�����

*���	��2& ��� ������� �'������ *����
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������� ��������
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��
�	��� �	�
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�� Φ �� �����
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� �	�

� �� �	�����
) 2� ��
��
 �� 
� ��
����
 ��	 �
 
D�� PM �	��	���
�� �
 &�	�

��	 
� /��	� A)EC� 
�������� 
� ��

�����
�� ���
��	�����
� �	�&�
�
� ��� ����	� 
D���

���
��	�� &����
� �� ��� ����	� 
D��� &������� &����
�) 2� /��	� A)EC ��
�	� ��� ���
 
�

&����
 ���
��	� ��� �� PM ����	���
� $ 
� 
����� �� 
� ��

�
� AMR �� ������) (
 ���� ��
�

��

����	 �� 
D�� PM �
 &����
 ���
��	� ��� ����	��
�
� $ 
��
��	���	 �� 
� ��

�
� AMR

�� �	����)

����
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��
�
�
�
�

����

noeuds de la cellule1 intervenant dans la discrétisation du noeud de pression    

noeuds de la cellule2 nécessaires a la discrétisation du noeud de pression

noeud de pression de la cellule1 à connecter à la cellule2

����

����

���� ����

��

��

����	� A)EC < %�
������
��� ��� ������� ���� �8�� �� �������� ��� 	���� ��� �� ������
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� ������ �� ����	��������
 ���
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���
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� ��� ��� �������
� ���
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������

�
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2� ��
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 ��� 
�&���' /
� �� 
� 	���
����
 ��	 
�� 
D��� /
� �
� ��� ���	����

	�������&���
� ��
� 
�� ������
� E)H)A �� A)E) -���� $ ��&��	 ���
� �� �����
� ��� ��

�
��

AMR &�
� 1�	� �	���� �� ���	����� ���	 ��
��	��	� ��� 
�&���' �� 	�N
���
� ��� �
�

��� ������	��� �4
������� 
�� ����' �������� �� ��� �	����)

2� ������
 �� 	�N
���
�+��	�N
���
� �� ���� �� �	�&�	� �� 
��
�	�������
 �� �	���	��

�� 	�N
���
�+��	�N
���
�) 2� �	���	� �� 	�N
���
� ��
����� $ ��
�	�	 �
� ��

�
� ��


�&��� GL 
�	�����
 
D�� �� 
�&��� �
��	���	 GL−1 &�	�/� �� �	���	�) X��
� 
�����
���
�

��� �
������

��	� �
 �� ���� ��� ��� ��

�
�� AMR ��&��

�
� ����
����) (
 ��
&��
� ��
�

�� 
�� ���	��	�) ����� ���	���� �
 �	���	� �� ��	�N
���
� ����� ���� ��� ��/
�) �����

��
 
�� 
��
����� ��
��+�� �����
�� 
� ����	�����
 ���
� ��

�
� �� 
�&��� GL �� ���


D��� /
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"
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���
�+��	�N
���
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 ��� ���������
� ���		��	� � �����	��	� ��
� ���
����� ���	 ��	�	 
� 	�N
���
�+

��	�N
���
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� ��� �
�	������ ��� �	���	��

�� 	�N
���
�+��	�N
���
� �����
� �
��	&�
�	 
� ���

� �����	� ) (
 ������ �� �	��&�	 
�

���

��	 ����	���� �
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� �	������
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� ��Y� ��'���� ������� ����

� ��+

���	��) �� �4�� �� �	���	� ��� ���
��� �
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6
 � ������ �����
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���
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���
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0� ����
 ���
��	���� ���� �� ���&� ���
��	����� ��
� �
 ����
���
� ���������� ���� �� ���&�

���
� ������ �
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���
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 �� ����� C ���� ����������� �� ��	 
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����������)
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��

�� 	��	���
��
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���
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 ����
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���� seuilmin �� �
 ����
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�&��� GL �

�
� &�
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�	� �
� ��

�
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�&��� GL+1)
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 ���'���� �	���	� �� 	�N
���
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�&��� GL �
 ��
��
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�� &�	�����
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���&���
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� �����
�� ��
� ����	�



2' �������� � �����
����

� ���
����� � �� ����
�� OCLM

��	�����
� �������� ���	�3�
��
� &�	����
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| |Φ(SE) − Φ(P )

dist(SE − P )
| |Φ(P ) − Φ(NE)
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| |Φ(SW ) − Φ(P )
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|
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���&���
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� �����
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seuilgrad)

!� ��'�&�	�����
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���� ≥ seuilgrad �
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������ ���� �� 	��
;�� �� ��)�����
 '��� ��� ���
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������
 � �� ���
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• 2� �	������� �	���	� �� 	�N
���
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�� < 
�����
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 	���
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�� ��
��
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���
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� �����
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���
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��
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���&�� ��' �����
��� �
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� ��

����
� ���	� �SS NN  EE WW  WSS ENN  WWSS EENN  EES WWN  
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���� ���	 
� �	���	� ���

�'�
������ ��	 
� /��	� A)AB) ;�
� ���	 ������ 
D�� P  �
 	�N
� ��

Max( |Φ(SS) − Φ(P )

SS − P
| |Φ(P ) − Φ(NN)

P − NN
| |Φ(EE) − Φ(P )

EE − P
| |Φ(P ) − Φ(WW )

P − WW
| 
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EENN − P
| 

|Φ(P ) − Φ(WWSS)
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��	 �� Φ criterseuil ��� ������ ���	 ��� �	�/
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��
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���
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��	����

�
 ����������� �����+$+��	� �
 �	�
� �	�� 	����)
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� ���

��� ��� ����3 /
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�	���	 �� �	�
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√

ndim ∗ Min(Δx, Δz, Δy) �P ndim ��� 
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���
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������� Δx �	��+

�����&���
� Δz Δy� 
� ��� �������� ���&�
� x �	�������&���
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D��� �������� ��	 
� �	�
� �
� ��� &�
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�	� �	�� ��� �� ��� �� ���
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���
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�
�'����
� �� �
��N��
� �� 
�&��� �� ��
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�� �� �
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Φ(x) = 1 �� x ∈ [0.2, 04] Φ(x) = 0 ��
�
 �� ����� �
����
) Φ �� ���
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� &������

a &�	�/�
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� �
�� /
 a <
Δxfin

Δt
) 6
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��� ����� �	���	�
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� �� ��
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���
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� ��
����
 �	�
��� Φ ��
� 
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� �������) 2�� 
D��� ��
�	��� �
 �	�� ��
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C1

C2

C3

C4

C5

C6

Noeud grossier de vitesse horizontale

Noeud fin de vitesse horizontale

Noeud grossier de pression ayant cree la cellule AMR

����	� A)AK < @�
������
��� Q1 ��� ��� �8��� �� ��
���� ����:��
���
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Noeud grossier de pression

Noeud fin de pression

����	� A)A: < @�
������
��� Q2 ��� ��� �8��� �� ��������

����	� A)HB < @�
������
��� Q2 ��� ��� �8��� �� �������� �� 3%
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�
� AMR) 6
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C1

Noeud grossier de vitesse horizontale

Noeud fin de vitesse horizontale

C2

Noeud grossier de pression ayant cree la cellule AMR

����	� A)HE < @�
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Noeud grossier de pression

Noeud fin de pression
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Noeud grossier de pression ayant cree la cellule AMR
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C1

����	� A)HH < @�
������
��� Q3 ��� ��� �8��� �� ��
���� ����:��
���

����	� A)HJ < @�
������
��� Q3 ��� ��� �8��� �� �������� �� 3%
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D��� ��

Σ ��
� ��
� 
� �����
� Ω) ����� ���� ������
 ��
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������
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� �4�� ���
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Q3) 2�� /��	�� A)HI �� A)HC ��
�	�
� ��� ���	 �� �4�� ���
��	��
����
 ��	���
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D��� ��

Σ ���/
� ��
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� ������
 #� 
��'����
� ��� ��
� ��
� 	��	���
��� $ 
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� Ω
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&��
� �
�	� �� ����
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noeud provoquant la creation d’une cellule AMR
noeud de l’ancienne cellule de reference
noeud de la nouvelle cellule de reference
noeud commun a l’ancienne et a la nouvelle cellule de reference
cellule AMR

����	� A)HI < A�����
 �� �������	� ���� ��� �8��� �� �������� ��� ��� 	���� �� ��

	������� 5 ���� ����
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��� Q3
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 ���
��	���� ��
� ����� ������
 ��' 
D��� ������ ��	 
��
��	���� ��� 
�&���' GL/GL−1 

l ≥ 1) ;�
� ���
�� 
�� �
��	��
����
� �� �4�� Q2 �� Q3 ��
� ��
��	
���) 2�� /��	�� A)HF

�� A)HK ��
�	�
� ��� ���	 
��
��	��
����
 Q3 ��	���
� 
D��� ���
��	�� �� Σ 
��'����
� ���

��
� 
� �����
� Ω) ����� ���	 
�� 
D��� ��
�	����	� ��	 
� ���	�

�A �
 ��
&��
� ��

����
�	�	 
��
���
� �� 	���	�
�� �� ��S�
 $ �� ��� ���� 
�� 
D��� �� Σ �'����
� ��
� 
�

�����
�) (
 ��N� �� ���&	� 
� �1�� ����	��� ���	 
�� 
D��� �� &������� 
��
��	��
����


Q2 �� �
 H;)
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noeud provoquant la creation d’une cellule AMR
noeud de l’ancienne cellule de reference
noeud de la nouvelle cellule de reference
noeud commun a l’ancienne et a la nouvelle cellule de reference
cellule AMR
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noeud de l’ancienne cellule de reference
noeud de la nouvelle cellule de reference
noeud commun a l’ancienne et a la nouvelle cellule de reference

noeud provoquant la creation d’une cellule AMR

cellule AMR

����	� A)HF < A�����
 �� �������	� ���� ��� �8��� �� �������� ��� ��� 	���� �� ��

	������� 6 ���� ����
������
��� Q3
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noeud provoquant la creation d’une cellule AMR
noeud de l’ancienne cellule de reference
noeud de la nouvelle cellule de reference
noeud commun a l’ancienne et a la nouvelle cellule de reference
cellule AMR

����	� A)HK < A�����
 �� �������	� ���� ��� �8��� �� �������� ��� �� ���
� �� �� 	�������

6 ���� ����
������
��� Q3

�� �� .
����������
� ��
���������� ���� ��� 
-�	� ���������

2� ������� FIC ��
�' (
��	���� ��		�����
� � ��� �
�	������ ��	 Q,�56� :AR ��
�


� ��� ���
� ������� �� 	�N
���
� �� ���

��� �� �4�� ��
���	�

� ���	 ��		���	 
� L�'

$ 
��
��	���� �� ���' 
�&���' GL−1/GL) !�
 �	�
���� ��� �� ��������	� �
� 	�
����
 ��

��
��
���� ��� L�' �� ��
� ����
� �������� $ 
� ��
����
 �
�	� ���' 
�&���' GL−1/GL ��	


�� &�
���� �� ��
�	@
� �� 
�&��� GL ��
� �� ���
� �
� ��� ����� ����	���
� $ 
��
��	����

GL−1/GL) ���� ��	��� �� 	����	��	 
�� ���� �����
�� ����=��� �� ��
��	� ��
��	&���&�)

�
 ���
���	�
� �� �� �	�
���� �� �
 ���&�
� 
� ����	��� �� 
��
��	��
����
 ��
��	&���&�

���	��� ��
� Q�-6����#�-5 BER �
 ����	��
� 
� ��
����
 ��	 
�� 
D��� �� 
�&���

GL ��
� �� ���
� �
� ��� ����� ����	���
� $ 
��
��	���� GL−1/GL �
 �����
� �
 ��
�


�� L�' ����������) �
 �M�� ��	���
� L�' ��
� �
��	&�
�	 ��� 
D��� �� �1�� 
�&��� GL 

��
��� ��� �����	�� ��
� �
��	&�
�	 ��� 
D��� �� 
�&��� GL−1) ���� ����
� ��	������
� ��


� �������
 �� ������ ���� ���
 &�
��� �� ��
�	@
� �� 
�&��� GL) !� ����� ���� ����	���
�

����	���
� $ 
��
��	���� ��� ���' 
�&���' 
� L�' 
� �	�&�	��
� ���� �
��	&�
�	 ��� 
D���

�� 
�&���' GL−1) !�
�
 
� L�' �	�&�	��
� 
� ���� ���� �
��	&�
�	 ��� 
D��� �� 
�&��� GL)

6
 �����

� 
� ����	��� �
 ������4�
� ��	 
� /��	� A)H:) ;�
� 
� ����� �� ��
���	��� 

�
 ��	
�	� �� 
� ������� FIC ���	 �����
�	 �� �4�� ���
��	��
����
 ��
��	&���&� ��	 
�
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LPW
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S
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e
p
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Fn
FW

Fe

����	� A)H: < %�
������
��� ���� �8�� �	������ � ����
����	� G0 − G1 ��� ��� ��
����

FIC


��� 
D��� �� 
�&��� GL−1 ��
�	�� �
 �����
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 ��
����	� 
��������
 <

∂Φ

∂t
+ (

−→
V .

−→∇)Φ =
−→∇ .(K

−→∇Φ) �A)E�

2� ����	��������
 �����	�

� ���
����� �� 
��������
 �A)E� ��

� <

Φk+1 − Φk

Δt
+ (

−→
V .

−→∇)Φk+1 =
−→∇.(K

−→∇Φk+1) �A)A�

�

� ����	�� ���� 
� ��	�� ��
��	&���&� <

Φk+1 − Φk

Δt
+
−→∇.(Φk+1−→V ) =

−→∇.(K
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�
 ���
����
� 
� ������� ��� &�
���� /
�� ��	 
� &�
��� �� ��
�	@
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L ������� ��
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 �A)H� �
 �����
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(Φk+1 − Φk)dΩp
L + Δt

∫
Ωp

L

−→∇ .(Φk+1−→V )dΩp
L − Δt

∫
Ωp

L

−→∇ .(K
−→∇Φk+1)dΩp

L = 0 �A)J�

!��� Σp
N,L �	�������&���
� Σp

S,L Σp
W,L Σp

E,L� 
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 �	�&��

�

$ ��� �������� ��
���
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� ���� Σ �� (uL
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� &�����	 &������ ��

��
�	� �� 
� ���� Σ ����	��
�
� �� 
�&��� GL) ;���	�� 
� ��	��
� �� 5	��
 �
 �����
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1

Δt
(Φk+1

p − Φk
p)ΔxLΔzL +

∫
Σp

S,L

Φk+1−→V .−→n dΣp
S,L +

∫
Σp

N,L

Φk+1−→V .−→n dΣp
N,L

+

∫
Σp

W,L

Φk+1−→V .−→n dΣp
W,L +

∫
Σp

E,L

Φk+1−→V .−→n dΣp
E,L

−
∫

Σp
S,L

K
−−→
Φk+1.−→n dΣp

S,L −
∫

Σp
N,L

K
−−→
Φk+1.−→n dΣp

N,L

−
∫

Σp
W,L

K
−−→
Φk+1.−→n dΣp

W,L −
∫

Σp
E,L

K
−−→
Φk+1.−→n dΣp

E,L = 0�A)I�

!��� FI = +
∫
Σp

I,L
Φk+1−→V .−→n dΣp

I,L − ∫
Σp

I,L
K
−−→
Φk+1.−→n dΣp

I,L 
� L�' �	�&�	��
� 
� ���� ΣI  

I ∈ {N, S, E, W}) 2��������
 �A)I� �� 	���	�� ���� 
� ��	�� <

1

Δt
(Φk+1

p − Φk
p)ΔxLΔzL + FE + FW + FN + FS = 0 �A)C�

Z ;���	��������
 �� L�' $ �	�&�	� 
� ���� 6���� < FW

FW = −Φk+1
W + Φk+1

LP

2
uL−1

Σp
W,L

ΔzL−1

3
+ K

Φk+1
LP − Φk+1

W

ΔxL−1

ΔzL−1

3
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 �� L�' $ �	�&�	� 
� ���� ��� < FE

FE =
Φk+1

e + Φk+1
p

2
uL

Σp
E,L

ΔzL − K
Φk+1

e − Φk+1
p

ΔxL

ΔzL

Z ;���	��������
 �� L�' $ �	�&�	� 
� ���� ��	� < FN

FN =
Φk+1

n + Φk+1
p

2
wL

Σp
N,L

ΔxL − K
Φk+1

n − Φk+1
p

ΔzL
ΔxL

Z ;���	��������
 �� L�' $ �	�&�	� 
� ���� !�� < FS

FS = −Φk+1
p + Φk+1

s

2
wL

Σp
S,L

ΔxL + K
Φn+1

p − Φk+1
s

ΔzL
ΔxL

,�	�� �&��	 �
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��������
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ΦLdvol. �A)F�
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�
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� ���
����
∫

Ω
ΦdΩ`

6
 ������� ��� Φ ��� ��
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 2N ���
�� ���
 ���
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� ��
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2  P l−1
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������
� 
��
���
� �� 	���	�
��) P L

lim ∈ [P l−1
1 P l−1
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�� ��
��+
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� ��������� ��' 
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�� ��������� $

P l−1
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� 	���� ��������� �	�� ��
�	���
�
�� ��������
 ���� ������	 �
� ���
�

&�
��	 ��
���
�� $ 
��
����
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� �����
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D�� P l−1
1 � ��
� ���	 &�
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��� ��� 
�
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3 � ���	 &�
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Bords du domaine physique
Noeud de la cellule de reference
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Noeud fin de la limite

����	� A)JA < $���
����
 ��� �8��� �� �������� 7�� �����
����
 �� ����
�� �� Ω

�
�
�

�
�
�

P1 P2

P4P3

Plim

��
��
��
��

Bords du domaine physique
Noeud de la cellule de reference

Cellule AMR

Noeud fin de la limite

����	� A)JH < $���
����
 ��� �8��� �� �������� 7�� �����
����
 �� 	���� ����
�� �� Ω
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lim �� 
�&��� GL 
�� �1��� ��
�����
� ��' 
������ ��� ��

�� �������� ��	 
�


�&��� GL−1) (
 ���� ���� �����	� 	���	�	 $ ���
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��� ��� ��M�	�
�� ���&�
� ��� 
� ��	� ��+

��	���

� �� 
�&��� �	�����	 G0 �� GL−1 L > 1) "��	 
�� 
D��� P L−1
pre  L > 1 
�� 
D���

$ 
��'��	���	 �� �����
� Ω �'����
� ���� 
� ��
� ��� �	�����) %
 ���
��� �
����� ���	

�����
 ����' ���
 ����	���
� �� �����
� ��	��� �� ���
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��'��	���	 ���
���) "��	 
��
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pre ���
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�� 
D��� ����	��
�
� $ Ω �'����
� ����� ��� �	��	� �� ���� �� ��
��


AQUILON�) ;�
� ���	 ��&��	 �� P 0
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 ��N� �� &��	 ���
 ������� �� ���
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���� 
� �1�� &����
)

����� ������� 	���� �N���� ��
� ��� 
�� ��
�����
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�����
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 ��� 
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��+�� ��
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∂GL, l ∈ [1, N ]) 2� ��	����	� �� ���� ������
� ��� ���� 
�� 
D��� ���
� 
� �1�� 
���	�

�� &����
� �
 �����
� 
�� &����
� ��
���
� ��	 �
� �4���	�� ��
�	�
� ��	 	����	� ��


D�� ������ �����
� �M�� ��	��	�) !������
� ��	 �'���
� ��� 
� &����
 6���� 
��'����

��� �
�	� 
� &����
 ��� ��'����
�� ��� �����
� ����� ���
� ����� 
� &����
 6���� �� 
D��

�
 �������
)

����� ��	����	� ���� ��� �	��
���� ��
� 
� ����	� �P �
 
D�� Plim ����	��
�
� $ 
� ����

$ 
� 
����� �� �����
� ��4����� �� $ 
��
��	���� GL/GL−1 ��� ����	����� �� 
�
 �
��	��
�)

;� ���� ��� �M��� ��	��	� 
�� &����
� �� Plim �
��	&�
�
� ��
� 
� ����	��������
 ��
� �


��	��� ��� &����
� �����
��) ���� �
�	�=
� �
� ���&���� ���������
 �� 
� &�
��	 �
 Plim)

(����
�
� �
 
D�� Plim ��	 
� 
����� ������ �� Ω �� $ 
��
��	���� G1/G0) !������
� ���

��
 &����
 !�� 
��'���� ���) 6
 ���	���� �
�	� �� &����
 ��	� 
� &����
 !��) 6
 ���� ��

�1�� �&�� 
� &����
 6����) !� 
� L�' $ �	�&�	� 
� 
����� ������ ��� ��
���
� 
� 
�
� �� �����


����� �
 �����
� �
� ��

� ���������
 �� 
� &�
��	 �
 Plim) !�
�
 �

� ��� �		�
�� ��	 
�

&�
��	 �	��� ��	 
� &����
 !�� 
���� ���	� ��� ��

� �	��� ��	 
� &����
 ��	�) �

� ��� ��
�

�

�+�1�� �		�
��) ;�
� 
� &�
��	 ��
��
�� �
 Plim ��	 ����	��������
 ��&��
� ������)�/��	�

$ ���	��

6
 ������ ��
� �����
���	 �
� �	������� ������� ��� ��� �
� �����
����
 �
�	� 
� �	����	�

�� 
� ���'����) (
 ������ ���
��	��
�	 
�� 
D��� Plim ����	��
�
� $ 
� ���� $ 
� 
����� ��

�����
� ��4����� �� $ 
��
��	���� GL/GL−1 �� �����
����	 
� ���'���� ������� ��' ���	��)
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����

� ���
����� � �� ����
�� OCLM

�
% &��	��'
	��� �� ��AMR ���� 
� �����
� �������	�

6
 � ��
�	� ��
� 
� ���� ������
 E)A)E 
� 
�������� �����
���	 �
 ��
&��	 ���
�����

�
 ��
����
 ��� ��	����	�� ��� ��M�	�
��� �������
� $ 	�����	� �� �� 
� 	���
�	��� ���

��
����
�) 6
 	����

� ��� 
�	�����
 ������� �
� ������� ���	���&� ���
����� 
�� �������
�

����	������� ���&�
� �� ����	� ���� 
� ��	�� ���
 �4����� 
�
���	� $ 	�����	� < An+1Φn+1 =

Bn �P Bn ��� 
� ����
� ����	� $ 
����	����
 
 Φn+1 
��
��

�� $ 
����	����
 n+1 �� An+1


� ���	��� $ �
&�	��	 $ 
����	����
 n + 1)

;����	� ��	� �
 � �&���� ��
� 
� ���� ������
 E)H)A 
�� 
������ �� 
� ������� OCLM  


���� �� ������
��� �� 
� �	�����	� ���
��	��
����
 �� �� ��
&��	 ���
�����)

"��	 ��
�	�	 ����� ��N��
�� �
 �	����� $ 
����
��������
 �� 
��
��	��
����
) ����� �������

��
����� $ �
��	�	 
�� ��
�	������
� �� ����� ��	
��	� ��
� 
� ���	��� An+1 $ �
&�	��	)

2�	���� 
� ������� AMR ��� ���
���� 
��
��

�� X 	������
� 
�� 
D��� ��� ��M�	�
��


�&���' G0 $ GNmax  �&�� Nmax 
� 
���	� �� 
�&���' AMR) !��� KKT0 
� 
���	� ��


D��� ��	 
� ���

��� �	�����	 G0 KKTj  
� 
���	� �� 
D��� ��	 
� 
�&��� Gj �� KKT


� 
���	� �� 
D��� ����
) Φ �� ��������� �� 
� ��S�
 ���&�
�� < Φ = (.....Xniv
j )t j ∈

[1, KKTniv] niv ∈ [1, Nmax]) 2� ���	��� A ���
���
� (Aj,i) j ∈ [1, KKT ] i ∈ [1, KKT ] 

��� ��
��	���� �
 ��
�����
��)

(
 ���� �
����� ��������	 ��� 
��
�� �� 
� ���	��� ��		����
��
� ��' 
D��� $ �
��	��
�	)

;���	�� 
� ������
 # 
��
��

�� ��� ���	����� ��	 �
 ��
4
@�� ���
��	��
����
) !� Xniv
j  

j ∈ [1, KKTniv] 	��	���
�� Xniv �� 
D�� aj  

Xniv
j =

N∑
i=1

Xniv−1
i fi(aj).

N ��� 
� 
���	� �� 
D��� 
�������	�� $ 
��
��	��
����
) !��� fi(aj) (i, j) ∈ [1, N ] 
��


��&���' ���N���
�� (Aj,i) �� 
� ���	��� A 
$ �P 
��
��	��
����
 	���
��� 
� ����	��������


��� �������
�) ����
� AAj,i ��� �
���
��) 6
 �����
� �
�	�

Xniv
j −

N∑
i=1,i�=j

Xniv−1
i AAj,i ∼ 0 �A)K�

6
 
��� BB 
� 
��&��� ����
� ����	� ��		����
��
� $ B �����
 �
 � 	���
��� 
�� 
��
��

��		����
��
� $ ��� 
D��� �
��	��
�� ��	 0) (
 &��
� �
�	� <

N∑
i=1

AAj,iX
niv−1
i = BBj �A):�
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 �� �8AMR ��
� �
 �
�"��� ��������� ��

6
 
��� AAn+1 
� 
��&�

� ���	��� $ �
&�	��	 BBn 
� 
��&��� ����
� ����	� �����


��
��
�
� 
� ��
�	������
 �� 
��
��	��
����
 �� ��

� ��� �������
� ����	�������) 
� 
��&���

�4����� $ 	�����	� ��� ��
� AAn+1Xn+1 = BBn)

6
 � 	��	���
�� ��	 
� /��	� A)JJ �
 �'���
� �� �4����� �
����
 $ 	�����	� �)�) �&�
�


����
��������
 �� 
��
��	��
����
) 2�� ���� ���	���� A0 A1 A2 �� A3 	��	���
��
� 	�����+

��&���
� 
�� ���N���
�� �� 
� ���	��� A ��	 
�� 
�&���' G0 G1 G2 �� G3) �
 	��
��� 
�

���	��� ��� ������
�� ��
� 
��	�	� �� �	�����
 ��� ��

�
�� AMR ���
������� 
��	 
�&���

AMR ������	��
�
��) 2�� �1��� 
������
� ��
� �������� ���	 
��
��

�� X �� 
� ����
�

����	� B) 2� /��	� A)JI �

���	� �� ��
��	� ����
�/�� 
� ����	��� ���&�� ���	 ���
�����	


��
��	��
����
)

"�	��
� �� 
� ���	��� A 	��	���
��� ��	 
� /��	� A)JJ �
 	���
��� 
�� 
��
�� �� ������


�&��� ��		����
��
� $ ��� 
D��� $ �
��	��
�	 ��	 
�� ���N���
�� ���
��	��
����
) ���'+��

��
� 	��	���
��� ��
� 
� 
��&�

� ���	��� �� 
� /��	� A)JI ��	 ��� 
��
�� 
��	��)

6
 	���	��� ����� ��� ���	 ������ 
�&��� GL 
� ���	��� �
����
� A ���� �
��	&�
�	 �
�+

�����
� ��� 
D��� �� �1�� 
�&���) "�	 ��
�	� ��
� 
� ���	��� /
�
� AA 
�� ���N���
��

���
��	��
����
 ���
 
D�� �� 
�&��� GL ��
� �
��	&�
�	 ��� 
D��� �� 
�&��� GL−1) ��
�

�� �	����� ��	 �
 �	�
�
����
� ��� 
��
�� 
��	�� ���
 
�&��� GL ��	 
� 
�&��� �
��	���	

GL−1) 2� ��
�	������
 �� 
��
��	��
����
 ��
� 
� ����
� ����	� �� �	����� ����� ��	 
��
+

��	���
 �� 
��
�� 
��	��) -���	���
� ��� ��� ��	��� ��
� 
�
� ��� �������
 A)K�)

����� ����	��� ��	��� ��
� �� ��
��
�	 �
 �
� ���
� ����� 
�� 
D��� ����	��
�� $ ��	��	

��� ���N���
�� �	�&�
�
� �� 
� ����	��������
 ��� �������
� �� ���' �	�&�
�
� �� 
��
��	+

��
����
) 6
 
�&� ��
�� �
 ��� �	��
���� 	�
��
�	�� ��
� 
� ������� OCLM )

X0 B0

X1 B1

B2X2

X3 B3

=

A0

A1

A2

A3

����	� A)JJ < 9��
;�� ���
��� � ��������




�. �������� � �����
����

� ���
����� � �� ����
�� OCLM

��
��
��
��

����

X0 B0

X1 B1

X2

X3 B3

=

A0

A1

A2

A3

B2

����	� A)JI < 9��
;�� 7��� � ��������


�
( AMR �	 ���������� �
����	�

6
 � �'�
���� ��
� 
� ����+������
 E)A)H ��� 
� ������
��� �� 
� &������+�	�����
 ���	

	�����	� 
�� �������
� �� ��&��	+!��G�� �� ���� ��	 
����
������
 ���
� ������� �� ��
���+

�����
 ���� 
� ��
�	��
�� ���
����	������
��� ����
�� 
��	�
���
 �����
��) 6
 �'�
����

��� 
����������
 �� ����� ������� $ 
����	���� AMR)

2����
��������
 �� 
� ������� AMR 
�������� ����� �
 
�� �����

� ��
� 
� ������
 A)C 

�
 �	�&��
 ��	 
� ���	��� �� ����	��������
) �
 ��	����
��	 
�� ���N���
�� �� ����	��������


��		����
��
� ��' 
D��� &������� ����	��
�
� $ 
��
��	���� GL−GL−1 ��
� 	���
���� ��	


�� ���N���
�� ���
��	��
����
) !����
� ����
 �	�&��

� ��	 �
 ���

��� ����
� 
� ��&�	+

��
�� �� ����� �� &������� ��� ��
��
�� ��	 
�� 
D��� �� 
� �	�

� �� �	�����
 ��
�	�� ��	


�� ����	� 
D��� &������� ��
��	&�
�
� ��
� 
� ��
��
 �� 
� ��&�	��
��� ��� 
�� �
���	�
�)

!��
� 
�� 
D��� ����	��
�
� $ 
��
��	���	 ���	���� ��� ��

�
�� ��
� 	���
�� ��	 
� �������

�� 
��	�
���
 �����
�� ��� /��	� E)E:�) 2�� ���	�� 
D��� ��
� �
��	��
��) 6
 	����

�

��� 
��
��	��
����
 ��
����� $ ���	����	 
�� &�������
−→
VL ∈ GL ��	 ��� ��
4
@��� �����
�

�
��	&�
�	 ��� 
D��� &�������
−−→
VL−1 ∈ GL−1 �� ��� 	�&��
� �
 ���
��� ��	�� $ ������	 
�

&������ ��	 ��� 
D��� �� 
�&��� GL) ����
��
� ��	���
� 
D��� �� &������ �
� �� ���
�

�
 &����
 �
��	��
� �
��	&�
�
� ��
� 
��������
 �� ��&��	+!��G�� ����	������) ���'+�� ��
�

��
� ��	����
� �
L��
��� ��	 
��
��	��
����
) ����+��	
��	� 
����
� ��� $ ��&�	��
�� 
�

� 


� ��
��������
 ��� 
D��� �
��	���	� ���	������
�� $ 
� ��

�
� AMR ���M����� ��		����+

��
� .�����$ �
 ��	���
 ����
 �$ ����� �� 
��
��	��
����
 ��� ������ �
� &������ �� 
�

&�	�/� ��� 
� ��
�	��
�� ���
����	������
����)



�!

����
	�� �

�����	�	� ��� ��� ����	
��� �����
���

6
 ���	��� $ ��
�	�	 
��N������ �� 
� ������� AMR $ 	����	� 
� ��M����
 
���	����

���	 ���&��	 ���&	� ��� �
��	����� ���
� 
�� ����
���
�� ������������ �� 
�� �	�
�� ��

��
��
�	����
 ���
� 
�� ����
���
�� ��
����������� �� $ ��������	 
�� ��Y�� �
 �����

�"% �� ������ �����	�)

�
� )	
�� ��
�� 	���� ��������� ��� 
� 	�
�'����� ����


�� ����	� 2D �� ����������
�

6
 �&�
�� 
�� ��	��	��
��� �� 
�AMR ��	 
� 	���
����
 �� 
��������
 �� �	�
���	�

��������� �
 ���' ����
���
� �������� <

∂Sp

∂t
+
−→
V .

−→∇(Sp) =
−→∇ .(D

−→∇(Sp))

�&�� Sp 
� ��
��
�	����
 �������� 
−→
V (x, z) = (u(x, z), w(x, z)) 
� ����� �� &������ �� ;


� ���N���
� �� ��M����
 ��
���
��	�) 6
 ��
����	� �
 �����
� ��		� ���	1�� 0.1m ��
�


����
 �
 �
��� �
 ������ �� ��
��
�	����
 �������� 1g.m−3 �����	�� ��
� �
 L���� ��

��
��
�	����
 �������� 
�

� �/��	� H)E �������)

6
 ������ �
 ����� �� &������ ���	
�
� ���
��
���� ��4�

� Vmoyen = 0.1m.s−1 �� ��

��	�� �
�
4����� �&��	 ����� /��	� H)E �	�����<

u(x, z) = −Vmoyen cos(
π(x − x0)

L
) sin(

π(z − z0)

L
)

w(x, z) = Vmoyen sin(
π(x − x0)

L
) cos(

π(z − z0)

L
) �H)E�



.6 ��������  ��������� ��� ��� ������

� ���������

0

0.1

0.1

����	� H)E < (����
�
��� ���
���� �� �� 	��	��
��
��� �������� *���	��2
 ����� ��

��
����� ������ *����
�2


(x0 = 0.05m, z0 = 0.05m) ��
� 
�� ���	��

��� �� ��
�	� �� �����
�) 6
 �	����� ���


� ������ � �
����
���
� �
 	�4�
 - �� 0.015m �� �
 ��
�	� (x = 0.075m, z = 0.05m))

;�
� ����� ������
 
� ��	��� ��M����
 �� 
��������
 �� �	�
���	� ��� �	����� �� ��
��	�

���
�����)

 ���� .
���
�� 	� �/�� 	��
����������
 �������� 0 �� ��
��
����

���
 
�������

6
 ���	��� $ ��&��	 ���
 �M�� ���� �&��	 
��
��	��
����
 ��	 
� ���
��� �� 
� ��
����
)

6
 ����� �
�	� ��M�	�
�� �4��� ���
��	��
����
� Q1 Q2 �� Q3 ��	 
� ��
��
�	����
 ���+

�����) 6
 ��
��
� ��
 �&�
����
 ��	 �
 ���

��� �	�����	 G0 = 16 ∗ 16 �&�� ���' 
�&���'

�� 	�N
���
� ���� �
 ���

��� /
 ����&�
�
� ��
� AMR G = 144 ∗ 144) 6
 ������� �


��� �� ����� ���
 $ Δt = 0.001s �
� ��	�� �� ����
����
 �� 0.1s �� �
 ���N���
� ��

��M����
 D = 10−8m2.s−1) 2� &������ �
�
4����� ��� ������� ��	 
�� 
D��� &������� ���


�&���' G0 $ G2) 6
 ������� ����� �	���	� �� 	�N
���
�+��	�N
���
� �
 �	���	� ����

��	 
� �	����
� �� ��
��
�	����
 Sp)

6
 ����	&� ��	 
� /��	� H)A 
� ��	�����
 ������

����
� ��� �� ��&�
����
�) �� �����	��+

��
� ��� ����
��
� $ ��
�� ��

� ���� 
� 
�� �� ���
���
� �� Gibbs) ��� ����

����
� �
�

�
� ���
����� ������
� �
�� ��	�� ��� 
� ���	� �� ��
4
@�� ���
��	��
����
 ��� �
�&�) �


�M�� ���	 
��
��	��
����
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� �
��	��
����
 ��
��	� �� 
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�����	 
� 
���	�

�� 
D��� $ 	�����	� �
� �
��	
���&� ��
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 D = 10−8m2.s−1 ���� AMR
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 ����'� �� 	��������	� ���� �� 	��)	���
 D = 10−9m2.s−1 ���� AMR *'��2


D = 10−9m2.s−1) 2��	�	� �� �	�
���	 �� ����� 
�
����	 ��	����	������� �������� �� ����+
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� �
�
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����
���
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 ������ �
����
���
� �
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��	�� ��� Q�,(�� BHR�) ,&�� �
 ����� tf = 8s �
 �	��&� λ8 = 5.656 10−4m �� λ9 = 1.788

10−4m) (
 ��� ����� �
��	����
� �� 
���	 ��� λ9 =
λ8√
10

)

(
 ��� �
��	 ��� 
��	�	� �� ������ 
� ���		� ��� �&��	 �����
� �� &�
��	 
����� ��
� ���
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�
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�
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����� �� ��� ��������

���&�
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� �� ��� Δx = Δz� ���	 
����
 λi i ∈ [8, 9] ��� ����	���	� $ �	��� ���

��)
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� ��
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 � ��
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�	���� Δx ≤ Δxc8

�	�������&���
� Δx ≤ Δxc9� ���	 D = 10−8m2.s−1 �	�������&���
� D = 10−9m2.s−1�)

2�� ��� ��������� �	������� ��
� 	������
�� ��
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� ���
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����&�
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Δxc Gc

D = 10−8m2.s−1 E)KKI 10−3 529 ∗ 529

D = 10−9m2.s−1 I):C 10−4 1676 ∗ 1676

���
��� H)I < ��� ������	� �
 ��������� 	��
����� ���� ��#����
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�����
� �
 �	�	� �� ��
&�	��
�� q4 = 1.99) 6
 ���� ������	 ��� λ8 ��� �� 
��	�	� ��
λ8

Δx
=

λ8

Δz
= 3.68 ∼ 4 ���

��) "�	 ��
�	� ���	 D = 10−9m2.s−1 
� ���

��� 648∗648 ���

�
��	���	 �� ���

��� �	������ Gc = 1676 ∗ 1676) �
 ��� ��
� �

����	� �� ��
��	 ��� 
��	�	�
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&�	��
�� �&�� 
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���
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�� ��
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����
 �� ��� �������� 
� �
�� ����� �� ���� �
 �.����
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�&���' �� 	�N
���
�)

2� ���
��� H)C ��
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���	� �� 
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��
��) 2� /��	� H)EA ���
���
� 
�� ��

��� �� ���
��� ��
�	� ��� 
��	�	� �� ��
&�	��
��

��
� &�	� �
� &�
��	 
����� q = 2) 2� ������� AMR ��	��� ��
� �� ��
��	&�	 
��	�	� ��

��
&�	��
�� ��� �������)
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 ���� 	����	� 
� �1�� ����� �� ��
&�	��
�� ���	 D = 10−9m2.s−1 �&�� 
� �������
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��
� G4 = 1296 ∗ 1296 ��� �
��	���	 �� ���
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 ����	��� ��
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�� ��
����
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D = 10−8m2.s−1
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��� NBP εh

60 ∗ 60 ACHH A)EFAC 10−2

180 ∗ 180 EJBCK E)AKBJ 10−2

540 ∗ 540 CEH:I H)IJBCI 10−3

���
��� H)C < =
��� �� 	��������	� �� �������� ���	 AMR ���� �� 	�� �� �� 
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	�������� ���	 D = 10−8m2.s−1
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qamr1 = 0.63

qamr2 = 1.75

����	� H)EA < ����'� �� 	��������	� ���� �� 	��)	���
 D = 10−8m2.s−1 ���	 AMR 
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� �� ��M����
 D = 10−8m2.s−1 ���	 ��
�
�	� ��	 
��N������ �� 
� �������)

6
 ���� &����
���	 
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��� �&�� AMR ��	 
�� /��	�� �H)EH� �� �H)EJ�) 6
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�
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� �� ��
��
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���
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� ��	�������
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��� ��
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 �� ��
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 ���� ����	&�	

��� �
�� �
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���
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���� ��� 
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������ �� ���� 7�
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+

��
� Tnum1 �� Tnum2)

2��		��	 ε ��� ��/
�� ��	 <

ε =
||Tnum − Tan||2

||Tan||2
ε =

[
∫

V
|Tnum(x, z) − Tan(x, z)|2dxdz]

1
2

[
∫

V
|Tan(x, z)|2dxdz]

1
2

�H)H�

ε ∼ [
∑

i,j |Tnum(xi, zj) − Tan(xi, zj)|2ΔxiΔzj ]
1
2

[
∑

i,j |Tan(xi, zj)|2ΔxiΔzj ]
1
2

, i ∈ [1, Nx], j ∈ [1, Nz]
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��� H)EJ� ����� $ ��	� ��
��
�	 ��� �		��	� ε �	��	�� $ ������

���

��� G = (Nx − 1)(Nz − 1) ���	 ������ ���) !����
� ��� 
��		��	 ε �&�
�� ���&�
� 
�

	�
����
 ε = k( L√
N

)q �
 ��N� �� �	���	 
� ���	�� ln(ε) = ln(k) − qln( L√
N

) �P k ��� �
�

��
���
�� L =
√

(LxLz) �� q 
��	�	� �� ��
&�	��
�� ���	 ����	��
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�� �	�	�� 
����'

�� ��
&�	��
��) ���'+�� ��
��
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 �	�	� 
�����)
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� �����
�) ���
� ��

� ����
 ��
��
� 
� ��
����
 ��	 ����
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�&���' /
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 ���
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D��� �&�� ��� ��
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� ��
����
 �� �	���+

���
 ����
��	�) 6
 
� ���� ��
� 
� ����	�	 �
� ���
��	����
 �� 
��	�	� �� ��
&�	��
�� 
�

�
 ���
 �
 ����� CPU �� ���

� �����	� &�� 
� ������� AMR ��
� �� ���) 6
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��
�� $ ��	��	 ��� 	���
���� �� ���
��� H)EA) 6
 ����	&� �
� ��
&�	��
�� �
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�
���	� ��
��
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��� ��� �
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�� �&�� 
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 	����	� ����� ����	��� �&�� ���' 
�&���' ��AMR) 6
 �����
� ��


��&��� �
 �	�	� 
����� q = 2 �&��	 /��	� H)HF �� ���
��� H)EJ� �� ��� ��� �	�� ����������
�)

,�
�� �� &� ��� 	���
���� ����
�� ��	 �
 �� ���' 
�&���' /
� �
 ���� ��
�
�	� ��� �����

���	���� ��
��	&� 
��	�	� �� ��
&�	��
�� ��� �������)

���

��� � ε

8 ∗ 8 KE E)A::K 10−2

16 ∗ 16 AK: J)A:EI 10−3

32 ∗ 32 EBK: E)AHEC 10−3

64 ∗ 64 JAAI H)AFEA 10−4

128 ∗ 128 ECCJE K)H:CE 10−5

256 ∗ 256 CIIHC A)EHJB 10−5

���
��� H)EA < =
��� �� 	��������	� �� �������� ���� AMR ���� �� 	�� �� "��
�B��

ln ( sqrt(N) / L)

ln
(e
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q1 = 1.74

q2 = 1.88

q3 = 1.95

q4 = 1.99

q5 = 2
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��� G0 ���

��� G1 N ε

4 ∗ 4 12 ∗ 12 E:J C):HH 10−3

8 ∗ 8 24 ∗ 24 FBC A)B:J 10−3

12 ∗ 12 36 ∗ 36 EIHK :)KFE 10−4

24 ∗ 24 72 ∗ 72 I:IJ A)CBE 10−4

40 ∗ 40 120 ∗ 120 ECHAA :)IHF 10−5

70 ∗ 70 210 ∗ 210 J:ICA H)EJF 10−5
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��� H)EH < =
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ln ( sqrt(N) / L)
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q1 = 1.85

q2 = 1.93

q3 = 1.99
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��� G0 ���

��� G2 N ε

4 ∗ 4 36 ∗ 36 EICH :)KF 10−4

8 ∗ 8 72 ∗ 72 CBHI A)CBE 10−4

12 ∗ 12 108 ∗ 108 EHJE: E)EFJB 10−4

16 ∗ 16 144 ∗ 144 AHFEI C)CIE 10−5

24 ∗ 24 216 ∗ 216 IHBJH A):KB 10−5

���
��� H)EJ < =
��� �� 	��������	� �� �������� ���	 �� ��
���� AMR �
 ��� ������ 

7�� ���� �� 	�� �� "��
�B��

ln ( sqrt(N) / L)

ln
(e
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r)

4.5 5 5.5

-10

-9

-8

-7

q1 = 1.97

q2 = 1.99

q3 = 2

q4 = 2
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G2 EICH :)KF 10−4

G3 EHJJJ E)EFJ 10−4

G4 EE:BC: E)HAK 10−5
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��� H)EI < =
��� �� 	��������	� �� �������� ���	 �� ��
���� AMR ���� �� ��������

�������� G0 = 4 ∗ 4 �
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ln ( sqrt(N) / L)

ln
(e

rr
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r)

3 3.5 4 4.5 5 5.5 6

-11
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q1 = 1.87

q2 = 1.98

q3 = 2
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� �����	���	� ��	 
� ���

��� �	�����	 ��	 
��		��	 ε ��� ��&���� ��	 : ��	

	����	� �� ��� ��
� �
.�����
) ;�
� 
��
.�����
 ��	���� ����
� �
�� ������� ���	 ���
��	�	


� �	������
 ��� ��
����
�) 2� /��	� H)JB &��
� ��
/	��	 
� ���� ��� 
��
.�����
 ��	���� ��	�=�

���	��	��� $ �� ��� ��	����
��	 �
 ��	�� ���		��	) ���� ����
 ���+�
 �� 
� ��
��	&����
 ��


��
�	���`

���

��� ε �&�� �
.�����
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G0 H)K 10−2 J):F 10−4 J)A: 10−3

G1 I)F 10−4 I)F 10−4 I)F 10−4
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�� �� ����
��� ��������� �
 �����
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Noeuds interpolés
Noeuds résolus fortement 
influencés par les noeuds interpolés
Noeuds résolus faiblement
influencés par les noeuds interpolés

Noeud générateur de la cellule AMR
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directe − Q1 I)IF 10−3 I):A 10−3 I)FEJ 10−3 :)BJ:

directe − Q2 F)JE 10−4 E)BE 10−3 K)BC 10−4 :)BE

���
��� H)EK < ����������� ��� ������� �
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 ��� �������
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��	
�
� 
� �	������
 ��� ��
����
� �� 
��

���
� �
 ��	�� �� ���

� �����	� �� �� ����� CPU )

6
 �� �
��� ��
� �
� ��&��� Ω = [−0.1m, 0.1m] × [−0.1m, 0.1m] �� �@�� H = 0.2m ��
�


����

� �'���� �
 ����
���
� �
������

��	� ����
� ���	��

�
 �� 5	��
+��4
�	) ��
��+��

� ��� ����/� �
 �
���	�
� �
 ��	�� ���	��
−→
S0 ��
� 
�� �������
� �� ��&��	+!��G�� ��
�


� ��� �� ���	� ����	�=�	� �
� ��
����
 ������

��	� 
�
 
�

� ��� Q�,2�,5(-6�� ::R�)

2� ����
� ����	�
−→
S0 � ���	 �'�	�����
 <

u0(x, z) = − π2μ

2H2
cos(

πx

2H
) sin(

πz

2H
)

w0(x, z) =
π2μ

2H2
sin(

πx

2H
) cos(

πz

2H
) �J)E�

�� ��� ��

� 
� ����� �� &������ �
�
4����� �&��	 /��	� J)K� <

u(x, z, t) = − cos(
πx

2H
) sin(

πz

2H
)(1 − exp(

−π2μt

2ρH2
))

w(x, z, t) = sin(
πx

2H
) cos(

πz

2H
)(1 − exp(

−π2μt

2ρH2
)) �J)A�

�� 
� �	�����
 �
�
4����� <

p(x, z, t) = −ρ

2
(cos(

πx

2H
)2 + cos(

πz

2H
)2)(1 − 2 exp(

−π2μt

2ρH2
) + exp(

−π2μt

ρH2
)) �J)H�
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��) �

�� ��
� ����
��� �
 ������
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� ����� �� &������� �
�
4����� ��


�&��� ��� ��	��� �� �����
� Ω �� ��� ��

� �� ����� t = 0.001s 
� ����� �� &������

�� 
� /��	� J)K ������) 6
 � �
�	����� �
����
���
� �
 L���� ��
�	� ��
� 
� ��	���� ���

�
 ��	�
� �� ��
�	� (0.05m, 0m) �� �� 	�4�
 0.02m ��� /��	� J)K �	�����) "��	 ��
�	�	 
��

��

�
�� AMR �
 ���
��� �
 �	���	� �� 	�N
���
� ���� ��	 
� �	����
� �� ��
��
�	����
) 6


���
��� �
 ������ TV D ���	 	�����	� 
��������
 �� �	�
���	� �� 
� ������� �� 2��	�
���


�����
�� ���	 
�� �������
� �� ��&��	+!��G��)

0

0.1

0.1

����	� J)K < ����� �� ��
����� �����
���� � ���	�� � t = 0.001s �
 D���� 	����� ��
�����


���
�������
 � ����
�& �������� G = 90 ∗ 90


%���� .
����������
� 
�
 ��
���������� �� ��
	����
 	��
��
�����

��������

6
 ���
��	���� ��
� ����� ����+������
 �� �����	����
� �� 
� ������� AMR 
�	�+

����
� ������� �� 
��	�
���
 �����
�� ��� ���
���� ���	 
�� �������
� �� ��&��	+!��G��)

6
 �����	� ��
� ��
� �
 �	����	 ����� 
� &�
��	 ��'���
� �
 &�
��	 ����
�� �� 
�

��&�	��
�� ��	 
�� 
�&���' G0 = 90∗90 �� G1 
�	���� 
� 
���	� �����	����
� �� 
��	�
���


�����
�� NTla &�	��) 2� ���
��� J)J ��
�	� ��� 
� ��&�	��
�� ������ ��	 
� 
�&��� /


���
� NTla �����
��) "�	 ��
�	� 
� ��&�	��
�� ��	 
� 
�&��� �	�����	 	���� �� 
��	�	� ��

10−4 �� ����
�� ��� ���
� 
� 
���	� �����	����
� �
 
��	�
���
 �����
��)

6
 �����	� 
�� &�
��	� ��� ��&�	��
��� ����
��� ���	 NTla = 3 ��	 
�� 
�&���' G0 �� G1

��' &�
��	� ����
��� ��	 ��� ���

���� G = 90 ∗ 90 �� G = 270 ∗ 270) 6
 ����	&� ��
� 
�

���
��� J)I ��� 
� ������� �� 	�N
���
� �� ���

��� 
� ���	��� ��� 
� ��&�	��
�� ��
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���

��� �	�����	 �� ��� ��

� ����
�� ��	 
� 
�&��� �� 	�N
���
� ��� ����&�
�
�� $ ��

�

����
�� ��	 �
 ���

��� G = 270 ∗ 270)

NTla 	����� ��&�	��
�� G0 ��&�	��
�� G1

E 10−15 C 10−4 10−4

H 10−15 A 10−4 10−6

C 10−15 10−4 10−8

���
��� J)J < ?����� �� �� ��������	� ��� ������ �� ���	
��� �� ���'�� ���
���
���� ��

���������� ������
� *NTla2 �� 
���� t = 2s
 Δt = 0.005s& ��
������
��� Q2 ��� ���

�8��� �� ����
�� �� ������ G1


��&�	��
�� G0 ��&�	��
�� G1 ��&�	��
�� G = 90 ∗ 90 ��&�	��
�� G = 270 ∗ 270

A 10−4 10−6 A 10−4 10−6

���
��� J)I < ����������� ��� ��������	�� ���	 �
 ���� AMR �� 
���� t = 2s


Δt = 0.005s& ��
������
��� Q2 ��� ��� �8��� �� ����
�� �� ������ G1& NTla = 3&

G0 = 90 ∗ 90


%���� 4�������
 	� ���
� 	� �������

�� ��� � ��� ������ ��	 �
 �'���� �
� ��
����
 �
�
4����� �� ����� �� &������) ;�
� ��

��� ��

�+�� ��� ����
�� �
 ������
� ����� ��
����
 ��	 
�� 
������ �� �
 �
�	������
� �


��	�� ���	�� ��� ��	��� �� ��
&�	��	 &�	� 
� ����� �
�
4����� ��������) ,�
�� 
�����+

�����
 ��� 
������ .��� �
 	@
� ����
���
 ��
� 
� ��
&�	��
�� �� ����� �� &������� &�	� 
�

����� �
�
4�����) 6
 	����

� ����
 ���
��� �
� �
��	��
����
 
�
 ��
��	&���&� ���	 
��


D��� ����	��
�
� ��' 
������ ��� 
�&���' AMR) 6
 ������ ��
� ��' 
������ �� �����


����' �
� &�
��	 �� ����� ��� &������� 
�
 �
�
4�����) ,�
�� 
� ����� �� &������� ���


�&���' /
 ��� �	����
���
� �
��	� ��	 
��
��	��
����
) "��	 
� &�	�/�	 �
 ������ 
��&�+


����
 ��� �		��	� ��	 
� 
�&��� �	�����	 G0 = 90 ∗ 90 �� ��	 
� 
�&��� /
 G1 �
 ��
����


�� 
��
��	��
����
 
�
 ��
��	&���&� ���
���� �Q1 Q2 �� Q3�) 6
 ������ �	��� ���	����
� ��


��	�
���
 �����
�� �&�� dp = dr = 0.001 ��
���
� �� �
 ��'���� �� &�
�� ���	����
�
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�
 BicgStabII)

6
 ����	&� ��	 
� /��	� J): ��� 
��		��	 ���	 	����	� $ 
� ��
����
 �
�
4������ ��	 
�


�&��� �	�����	 ����

� .�����$ �� �����
���	 �����	 �� εG0 = 0.0114) 2��		��	 ��	 
� 
�&���

G1 � 
� �1�� �����	����
� ��� ��

� ��	 G0 �� �� �����
��� �����	 �� εG1 = 0.0038 

���
��� ���� 
��
��	��
����
 ���
����) 6
 
��� ����

��	� ���	 �� ��� ��� 
�� �	��� �
��	��+


����
� ��

�
� ��� �����	����
�� �� 
��		��	 ��	 
� 
�&��� /
 �	�� ����
��	�� ��
��
�


� ��	�� ��� ����

����
� ���	 ��
&�	��	 &�	� 
� �1�� &�
��	 $ 10−2 �	��) 2� ���
��� J)C

��
�	� 
�� �		��	� ����
��� �� ����� t = 1.1s) 6
 ���� 
���	 ��� ���	 
� ���	��

�
 ��

5	��
+��4
�	 
����
������
 ���
� �
��	��
����
 Q1 Q2 �� Q3 ��&��� 
��		��	 ����
�� ��	 
�


�&��� G1 ��	 3 ��	 	����	� $ G0)

temps (s)

er
re

u
r

1 2 3 4 5

0.002

0.004

0.006

0.008

0.01

erreur G0
erreur G1, interpolation Q3
erreur G1, interpolation Q2
erreur G1, interpolation Q1

����	� J): < =����
��� ��� ������� ��� �� ������ G0 �
 G1 �������� 
���� t = 1.1s


εG0 εG1  Q1 εG1  Q2 εG1  Q3

0.0113726 0.003885 0.003864 0.003864

εG0

εG1
E A):H A):J A):J

���
��� J)C < =������ ���
�� ��� �� 	���� �� ��
���� ��� G0 �
 G1 �� 
���� t = 1.1s
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 ������ 
�
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�� CPU
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� ����� ����+������
 �
 ���	��� $ ��
�	�	 
�� ��	��	��
��� �� 
����	���� AMR

�
 ��	��� �� ���

� �����	� �� �� ����� CPU 
�	���� 
��
 	����� 
�� �������
� �� ��&��	+

!��G�� �� ��

� �� �	�
���	� ���
��	����) "��	 ��
� �
 �
�
4�� �
�����	� ��	����	�� 
��� ��

����� �� ����
����
 �� $ 
� �����	� ���� �
 �����	� 
�� 	���
���� �&�� �� ��
� AMR)

"��	 
� ��� AMR ��&�� �
 ���' ���� �	��� 
�&���' �� 	�N
���
�� �
 �	�
� �
 ���

���

G0 = 20 ∗ 20 �� �
 ��� �� ����� Δt = 0.001s) 2� ����� ��� �����

�� ��
��
� 0.5s)

�
��+�� �
 ������ ���
���

6
 ������ ��� 
� �1�� ����	��� ��� ��
� 
� ����+������
 H)E)C �� �
 	��	�
� 
��

�1��� 
������
�) �
 �M�� ��
� �
 �	����	 ����� �
 �����	� 
� �����	� 
�������	�

���	 ����
�	 
� ��� AMR �&�� ��

� ���
���� ��	 �
 ���

��� /
 ����&�
�
� ��
� AMR

�&��	 ���
��� J)F�)

6
 
��� ��
� 
� ���
��� J)F ��� ��� 
� �	����	 
�&��� /
 
� 	����	� rap ��� ��	������
�

�
��	���	 $ 1 �� ��
��
�� $ ����
��	 ���
� 
� 
���	� �� 
�&���' AMR �����
�� �� ���

��
�	� ��� 
� ������� AMR 	���� ���
� ��Y����� ��� ��

� ��
�) "��	 �
��	�	���	 ���

	���
���� �
 ����
�� �
 
��
 �&�� 
� 
���	� �� 
D��� 	���
��) ���
� ��

� ����
 	�����


�� �������
� �� ��&��	+!��G�� �� ��

� �� �	�
���	� ���
��	���� ��	 �
 ���

��� ����
�

�MAC� 
� 	�
����
 ��� ����
�� ��	 
� 
���	� ����
 �� 
D��� 	���
�� �&������� + ���
��	��)

!��� KKT �	�������&���
� KKV � 
� 
���	� �� 
D��� ���
��	�� �	�������&���
� &��������

	���
�� ��	 �
 ���

��� ��
� AMR) !��� NBGTL �	�������&���
� NBGVL� 
� 
���	� ��


D��� ���
��	�� �	�������&���
� &�������� 
�������	� $ 
� 	���
����
 ��� �������
� �&�� 
�

������� AMR) rgl 	��	���
�� ��� 
� 	����	� �
�	� 
� 
���	� �� 
D��� 	���
�� �&�� AMR

�� ��
� ���� < rgl =
NBGTL + NBGVL

KKT + KKV
) ��� 	���
���� ��
� 	������
�� ��
� 
� ���
���

J)K) !��� rapcrit = 0.75 
� &�
��	 �	������ �� rap �
 ��S$ �� 
����

� �
 ������ ��� 
� ���


�
 ���

� �����	� ��� ��N��
� ���	 �	���	�	 
� ������� AMR) 6
 ��
����	� 
� ��
����


rap = f(rgl)) , ��	��	 ��� ��

��� ��� ���
���' J)F �� J)K �
� 	��	�����
 
�
���	� ��

�


� �	���� ���������
 rap = 2.55 ∗ rgl − 0.015 �&�� �
 ���N���
� �� ��		�
����
 �� 0.9996)

6
 �
 ������ rglcrit = 30%)

,�
�� ��
� ��� 
� 
���	� �� 
D��� 	���
�� �&�� AMR ��� �
��	���	 $ 30% �� 
���	�

�� 
D��� ����
 ��	��� ��

� 	�����	� ��
� ����� ������� ��	 �
 ���
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��� ���
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��	� $ ��
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 H)E)C �� ��� ��
� $ ��
�	�	 ���
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��� /
 �����	� �&�� AMR ���� �����	� ��
� AMR ���� 	��

60 ∗ 60 F K 0.9

180 ∗ 180 EI IB 0.3

540 ∗ 540 HK JAB 0.1

���
��� J)F < ������� �
������ *�� ��2 ���� ������� �� ������ 	������� ��� �� 
���'�����

�� G����!$�����& ���	 �
 ���� AMR& ��� ��#����
� ���������
 ���� ��� 	�� AMR& ��

�������� �������� �
����� ��
 G0 = 20 ∗ 20

���

��� /
 NBGVL NBGTL KKV KKT rgl

60 ∗ 60 AHHA EICC FICJ HFAE 0.35

180 ∗ 180 C:AF IAEC CIKKJ HAFCE 0.12

540 ∗ 540 AEFEC EFBCC IKCJJJ A:ACKE 0.02

���
��� J)K < (�����
 rgl ���� ��#����
� ���'��� �� ������ AMR �� 
���� t = s


�������� �������� G0 = 20 ∗ 20


� ���
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6
 ����	&� ����	�� 
�� /��	�� J)EB J)EE �� 
� ���
��� J): ��� 
� 	���
����
 ��� ����+

���
� �� ��&��	+!��G�� ��� �	�� ��Y����� �∼ 99% �� ����� ��4�
 ����
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� ��

� ��
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 ����&�����
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� 
� ������
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��	� ��������� �
�	��� ����
���
� ��M���&�� ��
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���
�� ��
����������)

2��	���
�
��� �� 
� ������� �� 	�N
���
� �� ���

��� ��������� �AMR� ���
���
���

��
� 
� ���� Aquilon �� ���	� �� 
� ����� 	����� �
 �	��� ���
�� <

Z 2� �	����	 ��� 
� ��	����	� �1�� ��� 
�&���' �� 	�N
���
� ��� 
��
 ���� ��
����+

	�	 ����� �
� �
���� ��
� 
� �������
 ��� ����	�� ��	 
�� ��

�'��
� �
�	� ��

�
��

AMR)

Z 2� ���'���� ��� 
����
��������
 �� 
� ������� AMR ��� ��	��� 
� ������� ���
��	+

�����
� �
�	� 
�&���' �� 	�N
���
� �� �
�	� ��

�
�� AMR ���
 �1�� 
�&��� ��

�1�� �
���
�)

Z 2� �	������� ��� 
� ����
��� �� 
� ������� �� 
��	�
���
 �����
�� �&�� 
� �������

AMR �
 ���
�����)

!�	 �
 ��� �� ����� �����

�� �
 ��
��������� �
 � ��
�	� 
��N������ �� 
����	���� ��+

&�
����� ���	 	����	� 
� ��M����
 ��� ������� �� ��
��	&�	 
� �	������
 ��� ��
����
� ��


��	�	� �� ��
&�	��
�� ��� ������� 
�	���� 
� ����� �� &������ ��� �
�
4�����) 2�	����


� ����� �� &������ ��� �
��	��
� ��	 
�� 
�&���' /
� �
 ����� �&�	� 
�������	� �� ��	��	

���
 ���

��� G0 ����3 /
 ���	 ����
�	 �
� �	������
 ��� ��
����
� ����������
��) �����

����	&����
 ����� �	�&����
� ��
� 
� ����	� �P 
�� �	����
�� �� ��
��
�	����
 �������� ��
�

��
��
�� $ 
��
��	���	 ��� 
�&���' �� 	�N
���
� ��
�	��	���
� �� ����� �� &������) ;��

��
�
����
� ����
��	�� �
� ��� ����
��� ��	 
� �1�� ��� �� ����� �����

�� �
 ����������)

2�� �	����	� 	���
���� �
 �	��� ����
���
� �������� ���	 
�� ��� �� ����� �����

�� �
 ��+


��������� �� ���������� �
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 ��
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� �	������
 ��� ��
����
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��
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� ��� �P 
�� �	����
�� �� ����� ���
���� 
� ��
� ��� ���� ��
��
�� ��
� 
�� 
�&���'

/
� �
� ����� ��	 �
 ��� �� ���	����� � ��� ��
�� ���� �� O����G�	�) 2�� 	���
���� �
�

��	��� �� ��
�	�	 ��� 
� ��	����	� 
�
 ��
��	&���� ��� �
��	��
����
� �� �4�� Q2 �
��	� 
�

�	������
 ��� ��
����
� 
��	�	� �� ��
&�	��
�� ��� ������� �� 
� ��
��	&� ��� 
��
�	���)

,�
�� �
 ��� 
�������	� �����
���	 ��� ���

���� G0 �	�� /
� ���	 ����	�	 ����
�	 ��� ��
�+

���
� �&�� �
� �	������
 ����������
�� ���
� �� �4�� ���
��	��
����
 �
�
 ��
��	&���&�� ���

������) "��	 ����4�	 �� ��
��	 $ �� �	��
��� �
 � ���
��� �
� ������� �� ��		�����
 ���

L�' ��' �
��	����� �FIC� ��� 
�&���' GL−1/GL �
����
���
� �	������ ��	 Q,�56� :AR)

��

�+�� ����� �&�	�� �
�� �N���� ��	 �

� ��	��� �� ��
��	&�	 
��	�	� �� ��
&�	��
�� ���

������� 
� ���	��� ��� 
� �	������
 ��� ��
����
� �� ��
��	&� 
��
�	���)

2����	���� AMR � �
����� ��� ���
����� $ 
� 	���
����
 ��� �������
� �� ��&��	+!��G��

�
 ���' ����
���
� �������� �� �	�&�	� �� 
������ �� �	��� ��� < "������

� ���	��

�
 ��

5	��
+��4
�	 �� 	����	� �� ��		���) 2� �	�
����
� ��N��
�� � ��� 
� ����
��� �� ����� ��+

�	���� �&�� 
� ������� �� 2��	�
���
 �����
�� �
 ���
�����) ;�� 	���
���� ����������
��

�
� �� 1�	� ����
�� $ ��
�����
 ��� 
� ���

��� �� ����	� ���� ����3 /
)

"��	 
��
����
� ��� ��� ������
���

�
� 
� ������� AMR � ��
�	� ��� ���
� �
 ���

�

�����	� �	�� �
��	����
�� ��
� ��� 
� 
���	� �� ���
�� 	���
�� 	���� �
��	���	 $ 30% ��


���	� �� 
D��� ����
 ��	��� ��
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 ���

��� /
 ����&�
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� ��
� AMR 

�� �� ���
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��������
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��� �
 ��	���
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 �
 ���

� �����	� ��
� ��	����
� ���	��� ������� 
� ������� 	���� �N���� �rgl <
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y sens de l’ecoulement
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h

!��� �
 L���� �
����	�����
� �� ���
�S�
� �
�	� ���' �
�
� ��	�3�
���' �����
� ���
�

������	 �) 6
 ��
����	� �
 ����
���
� �
�
 �� �
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��� 
� ����
���	) 6
 ���
��	���� ��

�
�� �� ��� ������

��	�)

2�� �������
� �� ��&��	+!��G�� �� 	������
� �
�	� $ <

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

∂u

∂x
= 0,

−∂p

∂x
+ ν

∂2u

∂z2 = 0,

−∂p
∂z

= 0,

�,)E�

6
 ������ ��	 
�� ��	�� �� �����
� u(x, z = 0) = 0 �� u(x, z = h) = 0)
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u(x, z) =
1

2ν

dp

dx
z(h − z),

v(x, z) = 0,
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dx
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 &� �	��&�	 �
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����
 �
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�� ���' �	�
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Umoyen =
1

h

∫ h

0

1

2ν

dp

dx
z(h − z)dz

��
�

Umoyen =
1

2ν

dp

dx

h2
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u(x, z) = Umoyen
6

h2 z(h − z),

v(x, z) = 0.
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��
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$ �
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� ��	
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∂2T

∂x2
+

∂2T

∂z2
= 0. �,)J�

2�� ��
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������ ��
� �� �4�� ;�	���
�� <

Z T (x = 0, z) = T0

Z T (x, z = 0) = T0

Z T (x = H, z) = T0

Z T (x, z = H) = T1

6
 ������� ��� 
� �����	���	� T ���� ����	�	� T (x, z) = F (x)G(z)) ;�
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��������
 ��


��
�	��� ���� �� ����	� ���� 
� ��	��

1

F

d2F

dx2
= − 1

G

d2G

dz2
= C
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Z !� C = 0 �
�	� Ta(x, z) = (C1 + C2x)(C3 + C4z) 

Z �� C > 0 �
�	� Tb(x, z) = (C5e
λx + C6e

−λx)(C7e
iλz + C8e

−iλz) 

Z �� C < 0 �
�	� Tc(x, z) = (C9cos(λx) + C10sin(λx))(C11cosh(λz) + C12sinh(λz)).
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���

� �� 
��
����
� ��� ��
�����
� ��' 
������) ,�	��

���
���� ��&�
������
�� �� ��
��
� �� [O9(�,T�- KH] �
 �	��&� <

T (x, z) = T0 + 2(T1 − T0)
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n=1

(1 − (−1)n)

nπsinh(
nπH

b
)

sin(
nπx

b
)sinh(

nπz

b
), �,)I�

8���� ,�� �9 Tf ��� 	� ������ C1

6
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� ��	� ����	���	) ,� 
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��� ���
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 � T (0, H) = T (b, H) = T0 �� ∂T
∂x

(0, H) = ∂T
∂x

(b, H) = 0)
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 ��'���� T1 �
 x = b

2
 ��
� Tf (

b

2
) = T1)

;��P

Tf(x) = T0 − 16

b4 (T0 − T1)x
2(x − b)2

0 x

T1

T0

b

Tf(x)

����	� ,)H < $������
��� Tf & ������� ��� �� '��� ��������� �� �������
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� ��' 
������ �� �	������
� ��	  

Z T (x = 0, z) = T0

Z T (x, z = 0) = T0

Z T (x = H, z) = T0

Z T (x, z = H) = f(x)

�
 ���&�
� 
� �1�� 	����

���
� ��� ��
� 
� ��� �'���� ��
� 
� ���� ������
 �	�+

����
�� �� �
 �� 	���	�
� $ [O9(�,T�- KH] �
 �
 ������ 
� �����	���	� ��� &�	�/�


��������
 �A.4� �� 
�� ��
�����
� ��' 
������) !��� <

T (x, z) = T0 +
∞∑

n=1

Cnsin(
nπx

b
)sinh(

nπz

b
),

�P

Cn =
2

bsinh(
nπH

b
)

∫ b

0

(Tf(x) − T0)sin(
nπx

b
)dx.
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�*� � 	
����

� �
��+������

;�
� 
��	� ��� 

Cn =
2

bsinh(
nπH

b
)

∫ b

0

16

b4
(T0 − T1)x

2(x − b)2sin(
nπx

b
)dx.

,�	�� ���
���� �
���	����
� ��	 ��	��� �
 �����
� <

Cn = 4(T1 − T0)16
(1 − (−1)n)

(nπ)3sinh(
nπH

b
)

(
12

(nπ)2 − 1).

;��P 

T (x, z) = T0 + 16(T1 − T0)

∞∑
n=1

1 − (−1)n

(nπ)3sinh(
nπH

b
)
sin(

nπx

b
)sinh(

nπz

b
) �,)C�
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�	������	
�� ��� ������ �	
 � �	

������	� '�
�

2����� �� ���� ��
����� $ ���	����	 �
� ��
����
 u�&������ �	�����
 )))� ��� ��� ����

��

�� �
�
4�������
� ���� �
�'�
�����
� ���� ��

�� �
 �
 
���	� /
� �� ���
��) ,�+

��
�
� X ∈ {x1, x2, ..., xn} ��� �
����
� �� ���
��)

2� ��
����
 �����	�'������
 f �� 
� ��
����
 u ���� �� ��
��	��	� �� ���' ��S�
� ��M�+

	�
��� <

Z !��� �
 ��	�� f $ 1�	� ���
� $ u ��' ���
�� �P ����� ��	
��	� ��� ��

�� �)�) ���	

���� ���
� x �� X f(x) = u(x) 

Z ���� �
 ��	�� f $ 1�	� �	���� �� u ��' ���
�� �P ����� ��	
��	� ��� ��

�� �)�) ���	

���� ���
� x �� X ||f(x) − u(x)|| < ε ε �	�� �����)

6
 ���
��	���� ��	 
� ����� $ 
� �	����	� ��
��	�����
 ��� ��	�� 
� 
�� ���
��	��
����
) 6


�	����� ��� 
� ��
����
 ���
��	��
����
 ��	� ��
��	���� $ ��	��	 ��� ��
4
@��� �� 2��	�
��)

����
� ��� 
�� ��
����
� ��� ��	�
� ���
����� �
��	���	���
� ��	�
� ��	 �'���
� 
� �	�����
 


� �����	���	� 
� ��
��
�	����
 �������� �� 
�� &�������)

!��� dim 
� ����
���
 ��������) 6
 ����� �
���	� ��� �
���
�� /
�� �� 2��	�
�� ��
�

�dim ���	 ��
��	��	� 
�� ��
����
� ���
��	��
����
) 6
 ��/
�� �
 �
���
� /
� �� 
� ��S�


���&�
�� <

Z ���� K �
� ��	��� �� �dim �������� ���
��	���	 
�
 &��� 

Z !��� Σ = {aj}j=1,N �
 �
����
� �� N ���
�� �����
��� �� K 
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 �

���"���"� �� �����
�� ,
��

Z !��� P �
 ������ &����	��
 �� ��
����
� f : K → � �� ����
���
 /
�) (�� �� ��
�

��� ��
����
� ��
4
@���
��)

Z Σ ��� �
���
&�
� �) �) < �� {αj}j=1,N ��
� ��

�� ∃ 7 � ∈ P ��
 ��� f(aj) = αj 

j = 1, N ) 2� ���� ������� ��� �
�	� {fj}j=1,N  f ∈ P ��
 ��� fi(aj) = δij ) δ ��� 
�

�4���
� �� T	�
��G�	 ��	����	��� ��	 δij = 1 �� i = j �� δij = 0 ��
�
)

!��� u �
� ��
����
 ��/
�� ��	 K ∃ 7 � ∈ P ��
 ��� u(aj) = f(aj) j = 1, N ) f �
��	��
�

u �
 �
 ���
� a ∈ Ω �� ���	��

��� a = (x, z) �
 2D �� a = (x, z, y) �
 3D <

f(a) =

N∑
j=1

u(aj)fj(a).

6
 �����
�� ��	 ��
��	��	� �
 �
���
� �� 	���	�
�� (K, Σ, P )) 6
 
�� ���
���� �
+

����� �
� �	�
���	�����
 �N
� ���	 ��	���	�	 
��
����
� �� �����
� ������) ,4�
� �����


�����
���	 ��� ���

���� $ ��� �������� &�	���
�� ��' < Tchebicheff  �'��
�
���
 )))� �
 ���

�
�����
���
� �� ������	 ��� �
���
�� �� 	���	�
�� $ ��� �������� &�	���
��) 6
 �	�����

��� 
�� ���

�� ��
� ����	�
��
��	��) 6
 ����� ��
� ��� �
��	��
����
� �� �4�� Qi �P i

��� 
� ���	� �� ��
4
@�� ���
��	��
����
 f ) 2�� ��
����
� $ �
��	��
�	 ��
� ���� ��� ���+


��	�� ������	���	� ��
��
�	����
 �	�����
 ))) ��	 
� �	�

� �� �	�����
� ���� ��� &�����	�

�&������� ))) ��	 
�� �	�

�� �� &������� 	�������&���)

�
����
����

 �
�� ��� ��� �8������ "����/��� �
 �%

��
����	�
� dx1 dx2 dx3 �	��� ��� �������� ���&�
� x �� dz1 dz2 dz3 �	��� ��� ����+

���� ���&�
� z) 6
 ��

� ��+��	�� 
�� �
���
�� �� 	���	�
��� (K, Σ, P ) �	��	�� $ ������

�
��	��
����
 ��
�� ����
� 	��	���
�����
 �	������� ��	 �
� �	�

� ���
��
��� ��	�����


�� &��������)

�
����
����

 ;�

2��
���
� �� 	���	�
�� 	��	���
�� ��	 
� /��	� #)E ����	�� <

K = [0, dx1] × [0, dz1] 

P = Q1 = vect{1, x, z, xz} 

Σ = {aj}j=1,4)

�
����
����

 ;�

2��
���
� �� 	���	�
�� ������ ��� �&��	 ����� 
� /��	� #)A� <

K = [0, dx1 + dx2] × [0, dz1 + dz2] 



�

�*� # �
����
����

 


 �

���"���"� �� �����
�� ,
�� �.�

0

a1 a2

a4a3

z

xdx1

dz1

����	� #)E < A�����
 �� �������	� ���� ����
������
��� >6

P = Q2 = vect{xjzk} j, k ∈ 0, .., 2 

Σ = {aj}j=1,9)

0

a1 a2 a3

a4 a5 a6

a7 a8 a9

dx1 dx1+dx2

dz1+dz2

dz1

x

z

����	� #)A < A�����
 �� �������	� ���� ����
������
��� >5

�
����
����

 ; 

2��
���
� �� 	���	�
�� 	��	���
�� ��	 
� /��	� #)H ��� ������� �� <

K = [0, dx1 + dx2 + dx3] × [0, dz1 + dz2 + dz3] 

P = Q3 = vect{xjzk} j, k ∈ 0, .., 3 

Σ = {aj}j=1,16)
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�*� # �
����
����

 


 �

���"���"� �� �����
�� ,
��

0

a1 a2 a3
dx1 dx1+dx2

dz1+dz2

dz1

x

z

dz1+dz2+dz3

dx1+dx2+dx3

a4

a5 a6 a7 a8

a9 a10 a11 a12

a16a15a14a13

����	� #)H < A�����
 �� �������	� ���� ����
������
��� >3

�
����
����

 �
�� ��� ��� �8������ "����/��� �
  %

��
����	�
� dx1 dx2 dx3 �	��� ��� �������� ���&�
� x dz1 dz2 dz3 �	��� ��� ��������

���&�
� z �� dy1 dy2 dy3 �	��� ��� �������� ���&�
� y) ����� ��
� 
� ��� A; �
 ��

�

��+��	�� 
�� �
���
�� �� 	���	�
��� (K, Σ, P ) �	��	� $ ������ �4�� ���
��	��
����
 ��
��

����
� 	��	���
�����
 �	������� ��	 �
� �	�

� 	��	���
��
� ����� ���
 ��

� �� �	�����


��� ��

�� ��� &�������)

�
����
����

 ;�

2��
���
� �� 	���	�
�� 	��	���
�� ��	 
� /��	� #)J ��� ��
��	��� ����� ���� <

K = [0, dx1] × [0, dz1] × [0, dy1] 

P = Q1 = vect{xjzkym} j, k, m ∈ 0, .., 1 

Σ = {aj}j=1,8)

�
����
����

 ;�

6
 ��	�� 
��
���
� �� 	���	�
�� �� 
� ��S�
 ���&�
�� �&��	 ����� 
� /��	� #)I� <

K = [0, dx1 + dx2] × [0, dz1 + dz2] × [0, dy1 + dy2] 

P = Q2 = vect{xjzkym} j, k, m ∈ 0, .., 2 

Σ = {aj}j=1,27)

�
����
����

 ; 



�

�*� # �
����
����

 


 �

���"���"� �� �����
�� ,
�� �. 

z

y

a1
0

a2

a3

a4

a5

a6

a7

a8

x

dx1

dz1

dy1

����	� #)J < A�����
 �� �������	� ���� ����
������
��� >6

2��
���
� �� 	���	�
�� 	��	���
�� ��	 
� /��	� #)C ����	�� <

K = [0, dx1 + dx2 + dx3] × [0, dz1 + dz2 + dz3] × [0, dy1 + dy2 + dy3] 

P = Q3 = vect{xjzkym} j, k, m ∈ 0, .., 3 

Σ = {aj}j=1,64)

%������
���

 ��� �
�+
@��� �� /���

�
 �%

!��� 
 
��	�	� �� ��
4
@�� ���
��	��
����
 f ) 6
 	����

� ��� Q = vect(xlym) ���	 ����

l ∈ [0, n] �� m ∈ [0, n] �����+$+��	� ����
 �'���� �
 �
����
� �� 	��
� λi
jk j ∈ [0, 3], k ∈ [0, 3]

���	 ������ ��
4
@�� �� ���� fi ��
 ��� ∀a ∈ Ω �� ���	��

��� a = (x, z) <

fi(a) = fi(x, z) =

n∑
j=0

n∑
k=0

λi
jkx

jzk

������ ��
4
@�� fi &�	�/� fi(xm, zm) = δim �P (xm, zm) 	��	���
��
� 
�� ���	��

���

�� 
D�� am �� 
� ��

�
� �� 	���	�
�� �� δ 
� �4���
� �� T	�
��G�	)

���
� ��

� ��� 
� ��

�
� �� 	���	�
�� ��� ��
������� �� (n + 1)2 
D��� �
 ��N� ��
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�*� # �
����
����

 


 �

���"���"� �� �����
�� ,
��

z

x

dx1+dx2
dx1

0

dz1+dz2

dz1

a1

a3
a2

a4
a5

a6

a7
a8

a9

dy1+dy2

dy1
a10

a11
a12

a13
a14

a15

a16
a17

a18

a19
a20

a21

a22
a23

a24

a25
a26

a27

y

����	� #)I < A�����
 �� �������	� ���� ����
������
��� >5

	�����	� ���	 ������ ��
4
@�� fi, i ∈ [1, (n + 1)2] 
�� (n + 1)2 �������
�

fi(xm, zm) = δim, m ∈ [1, (n + 1)2]

���	 �	��&�	 
�� �
��

��� λi
jk j ∈ [0, n], k ∈ [0, n])

�
 A; 
� 	���
����
 �� ��� �4������ ���� �� ���	� �&�� 
� 
������
 �,"2� 
�� 	���
����

���
� ����
�� �
���
��
���
� �� ���
� �� ���

� 	����

��
� ���	 1�	� �
����� �
��	���

��
� �
 ���� �
 ��	�	�
 90) !��
��
�
� ����
 �����
� �
� ��	��
����
 �
�
4����� ��� λi
jk 

j ∈ [0, n], k ∈ [0, n])

�
  %

6
 �����
� ��	 n 
��	�	� �� ��
4
@�� ���
��	��
����
) 6
 	����

� ��� Q = vect(xlymzq)

���	 ���� l ∈ [0, n] m ∈ [0, n] �� q ∈ [0, n]) "��	 ������ ��
4
@�� �� ���� fl, l ∈
[1, (n + 1)3] ��
 ��� ∀a ∈ Ω �� ���	��

��� a = (x, z, y) <

fl(a) = fl(x, z, y) =

n∑
i=0

n∑
j=0

n∑
k=0

λl
ijkx

iyjzk

����
� ��� ������ ��
4
@�� �� ���� pl &�	�/� pl(xm, zm, ym) = δlm, l ∈ [1, (n + 1)3], m ∈
[1, (n + 1)3] �P (xm, zm, ym) 	��	���
��
� 
�� ���	��

��� �� 
D�� am �� 
� ��

�
� ��
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�*� # �
����
����

 


 �

���"���"� �� �����
�� ,
�� �.2

a17
a18

a19
a20

a21
a22

a23
a24

a25
a26

a27
a28

a29
a30

a31
a32

dx1+dx2
dx1

0

a1
a2

a4
a3

a5
a6

a7
a8

a9
a10

a11
a12

a13
a14

a15
a16z

dz1+dz2+dz3

dz1

dz1+dz2

x

a33
a34

a35

a37
a38

a39

a41
a42

a43

a45
a46

a47
a48

a44

a36

a40

dy1

dy1+dy2

y

dy1+dy2+dy3

a50
a49

a51

a53
a54

a55

a57
a58

a59

a61
a62

a63
a64

a60

a56

a52

dx1+dx2+dx3

����	� #)C < A�����
 �� �������	� ���� ����
������
��� >3

	���	�
��)

!����
� ����
 4 � (n+1)3 
D��� ��
� 
� ��

�
� �� 	���	�
�� �
 ���� 	�����	� �
 �4�����

�� (n + 1)3 �������
� $ (n + 1)3 �
��

��� ���	 ������ ��
4
@�� �� ����) ;�
� �
 ����

	�����	� �
 ���� (n + 1)3 ∗ (n + 1)3 �������
� $ (n + 1)3 ∗ (n + 1)3 �
��

��� <

fl(xm, zm, ym) = δlm, ∀l ∈ [1, (n + 1)3], ∀m ∈ [1, (n + 1)3]

)

��
� 	�&��
� $ 	�����	� 
� �4����� <
n∑

i=0

n∑
j=0

n∑
k=0

λl
ijkx

iyjzk = δlm, ∀l ∈ [1, (n + 1)3], ∀m ∈ [1, (n + 1)3]. �#)E�

"��	 
� ��� 3D 
� 
������
 MAPLE 	������ $ 	�����	� 
�� �4������ �� ��S�
 �
�
4�����
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 �

���"���"� �� �����
�� ,
��

���� 
�� 	���
���� ����
�� ��
� �
���
����
�� �� ���� �� 
��	 ���

� �	�� ��
�����
��) �
 �M�� 

��
� 	��	���
�� �
&�	�
 100000 
��
�� �� ����) ��
� 	���� ��
� �	�� ���������' $ �	��	��+

��	 �� �
���
����
�) (
 ���� �
�	� �	��&�	 �
� ������� ��� 	���
&� 
� �4����� �� ��
��	�

�'����)

!��
�� 
�� �������� ��	����� ���&�
� 4 	���
�	�) ���� �&�
� ��
� ������ 
� ������� ���
+

&�	���
 LU ���	
� ��	 Numerical Recipes)

����� ������� ��
����� $ ���������	 �
� ���	��� A �
 �
 �	����� �� ���' ���	��� L

�	��
��
��	� �
��	���	� �� U �	��
��
��	� ����	���	�) ;�
� �� 
��� �� 	�����	� 
� �4�����

AX = B �P X ��� 
��
��

�� B 
� ����
� ����	� �
 	����� ��
� �
 �	����	 ����� 
�

�4����� LY = B ������
��� ���� UX = Y �	���
����)

-����
�
� ��� ����� ������� �����
���� $ ��� ���	���� $ �����
�
� ��	����
� ����+


�
��) 2� ���	��� ��� 
��� ���
���
� 
� ������� ��
���	������
� ��� ����� �	��	���� $

����� �� 
� �	���
�� �� 3�	�� ��	 
� �����
�
� �	�
����
�) "��	 ��
�	�	 ����� ��N��
�� �


���� 	����	���	 ��� ��&��� �� ��� 	�&��
� $ ����
��	 ��� 
��
�� �� ��� ��
�

�� �/
 �� ��

����		����	 ��� 3�	�� �1
�
��) ��
� 	�&��
� ��
� $ ���	� ��� ��	�������
� �� ��� �� �	�����

���� ��	�� ���	����

� ��	 
� ��
���
������
 $ ������ �� 
� ���	��� A ��	 �
� ���	��� ��

��	�������
 P ) (
 ������ ��
�� �� 	�����	� 
� �4����� PAX = PB) ����� �
�	� 
� ���	���

PA ����
 ��������� ���� 
� ��	�� LU )

,/
 �� /'�	 
�� ����� 
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